
MATHS

BOOKS - CENGAGE

INDEFINITE INTEGRATION

Examples

1. Evaluate:


Watch Video Solution

∫ dx.
(1 + x)

3

√x

2. Evaluate


Watch Video Solution

∫
2x+ 1 − 5x− 1

10x

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_gi9hCepGBL3s
https://dl.doubtnut.com/l/_ELVYdXNPWrHo


3. Evaluate .

Watch Video Solution

∫sec2 xcosec2xdx

4. Evaluate 

Watch Video Solution

∫ dx
1 − cos x

1 + cos x

5.  :

Watch Video Solution

∫ dx
1

1 + sinx

6. Evaluate:


Watch Video Solution

∫tan− 1{√( )}
1 − cos x

2 + cos 2x

https://dl.doubtnut.com/l/_6tJ8RzmqeQnj
https://dl.doubtnut.com/l/_2rWfnpTxA5j5
https://dl.doubtnut.com/l/_bILpwNrvhjzz
https://dl.doubtnut.com/l/_88oQCEr0QGhg


7. Evaluate:


Watch Video Solution

∫ dx.
secx

secx + tanx

8. Evaluate 

Watch Video Solution

∫ dx.
1 − x2

1 + x2

9. Evaluate 

Watch Video Solution

∫cos3 xdx

10. Evaluate


Watch Video Solution

∫
8x + 13

√4x + 7dx

11. Evaluate:
∫ dx.
1

√3x + 4 − √3x + 1

https://dl.doubtnut.com/l/_3hrriwvU3vCg
https://dl.doubtnut.com/l/_NvZtLny56qWJ
https://dl.doubtnut.com/l/_82RcPZoVtdIy
https://dl.doubtnut.com/l/_znmh4yHpZ93M
https://dl.doubtnut.com/l/_s63QA7XrJ0fr


Watch Video Solution

12. Evaluate: 

Watch Video Solution

∫sin4 x dx

13. Evaluate .

View Text Solution

∫sin 2x sin 3xdx

14. Evaluate .

Watch Video Solution

∫
dx

x2(x4 + 1)
3
4

15. Find the values of 
such that 

Watch Video Solution

aandb ∫ = tan( + a) + b
dx

1 + sinx
x

2

https://dl.doubtnut.com/l/_s63QA7XrJ0fr
https://dl.doubtnut.com/l/_Eg6Xz6cKzbHs
https://dl.doubtnut.com/l/_BE7KGqBEPW5q
https://dl.doubtnut.com/l/_tEyGhNqU5GvN
https://dl.doubtnut.com/l/_aPK7ocTbW1Wi


16. Ecaluate the following: 

(i)  


(iii) 

Watch Video Solution

∫ dx        (ii) ∫ dx
sec2 x

3 + tanx
ex − e−x

ex + e−x

∫ dx         (iv) ∫ dx
1 − tanx

1 + tanx

1

1 + e−x

17. Evaluate the following : 

(i)  


(iii) 

Watch Video Solution

∫(x + )
3 / 2

( )dx    (ii) ∫ dx
1

x

x2 − 1

x2

√2 + logx

x

∫ dx     (iv) ∫ dx
(sin− 1 x)

3

√1 − x2

cot x

√sinx

18. Evaluate: 

View Text Solution

∫  dx
sin 2x

a2 sin2 x + b2 cos2 x

19. Evaluate ∫ dx
1

1 − tanx

https://dl.doubtnut.com/l/_6Sy8HNxAY1jg
https://dl.doubtnut.com/l/_kFXkMhdqH2jj
https://dl.doubtnut.com/l/_XI1IMDq1y3YV
https://dl.doubtnut.com/l/_LttmeChL4fKQ


Watch Video Solution

20. Evaluate:


Watch Video Solution

∫(log dx

tan x

2

sinx

21. Evaluate:


Watch Video Solution

∫tan4 xdx

22. Evaluate:


Watch Video Solution

∫secp x tanxdx

23. Evaluate 

View Text Solution

∫ dx.
loge(x + √x2 + 1)

√x2 + 1

https://dl.doubtnut.com/l/_LttmeChL4fKQ
https://dl.doubtnut.com/l/_nzRSBlMlbCGv
https://dl.doubtnut.com/l/_PskgQB8dpv3m
https://dl.doubtnut.com/l/_qgC4t1sPe6zW
https://dl.doubtnut.com/l/_DTUgltjqdOb9


24. Evaluate:


View Text Solution

∫ dx.
2x − √sin− 1 x

√1 − x2

25. Evaluate .

View Text Solution

∫(x6 + x4 + x2)√2x4 + 3x2 + 6dx

26. Evaluate .

Watch Video Solution

∫sin 2xd(tanx)

27. Evaluate:


View Text Solution

∫{11 + 2x(tanx + secx)} dx
1
2

https://dl.doubtnut.com/l/_DTUgltjqdOb9
https://dl.doubtnut.com/l/_3YjqIUx8KgGO
https://dl.doubtnut.com/l/_9uZSo1YEqnmP
https://dl.doubtnut.com/l/_xEAKXCCh7qpY
https://dl.doubtnut.com/l/_smDLMpxPpGFj


28. Evaluate .

Watch Video Solution

∫tanx tan 2x tan 3xdx

29. Evaluate .

View Text Solution

∫tanx tan(x + 1)dx

30. Evaluate:


Watch Video Solution

∫ dx
1

√3 sinx + cos x

31. Evaluate:


Watch Video Solution

∫ dx
1

sin(x − a)s ∈ (x − b)

https://dl.doubtnut.com/l/_EHwel3S32ibJ
https://dl.doubtnut.com/l/_j4vPDz4z9xMn
https://dl.doubtnut.com/l/_nNyKEB9L8d6k
https://dl.doubtnut.com/l/_vmHnwbMFtcgp


32. Evaluate .

Watch Video Solution

∫
dx

(1 + x2)(√1 − x2)

33. Evaluate:


Watch Video Solution

∫
dx

(a2 + x2)
3
2

34. Evaluate:


Watch Video Solution

∫ dx
1

(x2 + 2x + 2)

35. Evaluate .

Watch Video Solution

∫
dx

2x2 + x + 3

https://dl.doubtnut.com/l/_m25eUWJvfSpX
https://dl.doubtnut.com/l/_UztmY5FxqLRX
https://dl.doubtnut.com/l/_FU62AbTbTAyN
https://dl.doubtnut.com/l/_9o7HF66hqeom


36. Evaluate 

Watch Video Solution

∫( )

1 / 2

⋅
1 − √x

1 + √x

dx

x

37. Evaluate:


Watch Video Solution

∫sin(ex)d(ex)

38. Evaluate .

Watch Video Solution

∫cos3 x√sinxdx

39. Evaluate: 

Watch Video Solution

∫222x

⋅ 22x ⋅ 2xdx

https://dl.doubtnut.com/l/_02WEpaBvHQBH
https://dl.doubtnut.com/l/_HRy7xMknF4eg
https://dl.doubtnut.com/l/_7zNNEjVlOGze
https://dl.doubtnut.com/l/_tiEnsethPiLJ


40. Evaluate:


Watch Video Solution

∫ dx
e√x cos(e√x)

√x

41.  is

Watch Video Solution

∫ dx
ex(1 + x)

cos2(xex)

42. .

Watch Video Solution

∫5x+ tan − 1 x ⋅ ( )dx
x2 + 2

x2 + 1

43. Evaluate:


Watch Video Solution

sin3 xdx

(cos4 x + 3 cos2 x + 1)tan− 1(secx + cos x)

https://dl.doubtnut.com/l/_fhNw04l00xqL
https://dl.doubtnut.com/l/_M0FVwY1g1BmS
https://dl.doubtnut.com/l/_3w9UMNhS45sz
https://dl.doubtnut.com/l/_kKM2RecqJFET


44. Evaluate:


Watch Video Solution

∫(( )
x

+ ( )
x

)1nxdx.
e

x

x

e

45. Evaluate:


Watch Video Solution

∫
1

√e5x(4√e2x + e− 2x3
)

46. Find .

Watch Video Solution

∫sin5 xdx

47. Answer the equation: 

Watch Video Solution

∫sin5 x ⋅ cos5 xdx

https://dl.doubtnut.com/l/_NiIPWgZYJK1a
https://dl.doubtnut.com/l/_RRaYqoJYIxwj
https://dl.doubtnut.com/l/_H4IOo65hPC6B
https://dl.doubtnut.com/l/_3eiD5rkAlyiz
https://dl.doubtnut.com/l/_AlDfKqcBPSOr


48. Find .

Watch Video Solution

∫
dx

sinx cos3 x

49. Evaluate:


Watch Video Solution

∫
dx

x2(x4 + 1)
3
4

50. Evaluate .

Watch Video Solution

∫
dx

x2√1 + x2

51. Evaluate:
Evaluate:


Watch Video Solution

∫x− 11(1 + x4)
−

dx
1
2

52. Evaluate:
∫ dx
1

(1 − x4)
3
2

https://dl.doubtnut.com/l/_AlDfKqcBPSOr
https://dl.doubtnut.com/l/_gBHXnSzg7Ual
https://dl.doubtnut.com/l/_dW4YP0uoMfJ4
https://dl.doubtnut.com/l/_KU4JXvxXcTBi
https://dl.doubtnut.com/l/_24BbzWuFOakY


Watch Video Solution

53. Evaluate:


Watch Video Solution

∫ dx
1

[(x − 1)3(x + 2)5]
1
4

54. Evaluate:


Watch Video Solution

∫ dx
1

x2 − x + 1

55. Evaluate:


Watch Video Solution

∫ dx
1

2x2 + x − 1

56. Evaluate:


Watch Video Solution

∫ dx
cos x

sin(x − )sin(x + )π

6
π

6

https://dl.doubtnut.com/l/_24BbzWuFOakY
https://dl.doubtnut.com/l/_UZdzNXtWV7HL
https://dl.doubtnut.com/l/_KtE4KEXqC8Q8
https://dl.doubtnut.com/l/_sw5zY85e5m6t
https://dl.doubtnut.com/l/_MC5FEHp61UMt


57. Evaluate:


Watch Video Solution

∫ dx
x

4x4 − 2x2 − 3

58. Evaluate:


Watch Video Solution

∫ dx
2x + 1

x4 + 2x3 + x2 − 1

59. Evaluate .

Watch Video Solution

∫
dx

(1 + x2)(√1 − x2)

60. Evaluate:


Watch Video Solution

∫
4x + 1

x2 + 3x + 2

https://dl.doubtnut.com/l/_MC5FEHp61UMt
https://dl.doubtnut.com/l/_Lc6x7Hp6tVuD
https://dl.doubtnut.com/l/_WrQc3GFoe89s
https://dl.doubtnut.com/l/_cBcteQOQA1Rp
https://dl.doubtnut.com/l/_Ycgn7kh2wq3U


61. Evaluate:


Watch Video Solution

∫ dx
x2 + 1

x4 + 1

62. Evaluate 

Watch Video Solution

∫ dx
2x

x4 + x2 + 1

63. Evaluate:


Watch Video Solution

∫ dx
x2 + 4

x4 + 16

64. Evaluate: 

Watch Video Solution

∫√tan\ theta\ d\ theta

65. Evaluate .∫ dx
1

√2x − x2

https://dl.doubtnut.com/l/_20HQopnxRik0
https://dl.doubtnut.com/l/_MeI3T1pM78un
https://dl.doubtnut.com/l/_pA57Di5GwscY
https://dl.doubtnut.com/l/_QS5lwFglVsHZ
https://dl.doubtnut.com/l/_XbAkTxufrA6N


Watch Video Solution

66. Evaluate .

Watch Video Solution

∫
sec2 xdx

√tan2 x + 4

67. Find 

Watch Video Solution

∫ dx
ex

√4 − e2x

68. Evaluate 

Watch Video Solution

∫ .
tanxdx

√2 + 3 tan2 x

69. Evaluate 

Watch Video Solution

∫ dx
x

√x − 1

https://dl.doubtnut.com/l/_XbAkTxufrA6N
https://dl.doubtnut.com/l/_CuDpOhawswzm
https://dl.doubtnut.com/l/_xPtB7Ga6WwW0
https://dl.doubtnut.com/l/_OpF8XjcDOqSt
https://dl.doubtnut.com/l/_4m2ckKE0zLxV


70. Evaluate:


Watch Video Solution

∫√ dx.
1 + x

x

71. Evaluate:


Watch Video Solution

∫ dx
sinx

sin 4x

72. Evaluate:


Watch Video Solution

∫ dx
1

sinx − sin 2x

73. Evaluate 

Watch Video Solution

∫ .
dx

2 + sinx + cos x

https://dl.doubtnut.com/l/_4m2ckKE0zLxV
https://dl.doubtnut.com/l/_eMJ4Trm1xiyT
https://dl.doubtnut.com/l/_pW0bHm7brlJQ
https://dl.doubtnut.com/l/_ZpMWIjc9OU3C
https://dl.doubtnut.com/l/_DqNSa6cnKV2L


74. Evaluate 

Watch Video Solution

∫ dx.
3 sinx + 2 cos x

3 cos x + 2 sinx

75. Evaluate:


Watch Video Solution

∫
1

(x − 3)√x + 1dx

76. Evaluate:


Watch Video Solution

∫ dx
1

(x + 1)√x2 − 1

77. Evaluate:


Watch Video Solution

∫ dx
x2 − 1

(x2 + 1)√1 + x4

https://dl.doubtnut.com/l/_8FwPBgL3JxWg
https://dl.doubtnut.com/l/_l2kvTGxI2eB9
https://dl.doubtnut.com/l/_Iqia6USbmOSu
https://dl.doubtnut.com/l/_k6usECT85hTB


78. Evaluate 

Watch Video Solution

∫ .
dx

(1 + x2)√1 − x2

79. Evaluate:


Watch Video Solution

∫ dx
1

1 + sinx + cos x

80. Evaluate:


Watch Video Solution

∫ dx
sinx

2 + sin 2x

81. Evaluate:


Watch Video Solution

∫ dx
2x − 1

(x − 1)(x + 2)(x − 3)

82. Evaluate:
∫ dx
2x

(x2 + 1)(x2 + 2)

https://dl.doubtnut.com/l/_uZCwQyt7ShRe
https://dl.doubtnut.com/l/_U0ggpO9mAEtG
https://dl.doubtnut.com/l/_EHqvoMQY11TV
https://dl.doubtnut.com/l/_5YZlFUpDqTnm
https://dl.doubtnut.com/l/_lbpEqhAd67fK


Watch Video Solution

83. Evaluate:


Watch Video Solution

∫ dx
1

sinx − sin 2x

84. Evaluate:


Watch Video Solution

∫ dx
(x − 1)(x − 2)(x − 3)

(x − 4)(x − 5)(x − 6)

85. Find 

Watch Video Solution

∫ dx
x2

(x2 + 1)(x2 + 4)

86. Evaluate:


Watch Video Solution

∫ dx
sinx

sin 4x

https://dl.doubtnut.com/l/_lbpEqhAd67fK
https://dl.doubtnut.com/l/_XJHJAg8uybck
https://dl.doubtnut.com/l/_pRY7vPj2wmPP
https://dl.doubtnut.com/l/_ncDnxvBfbYXj
https://dl.doubtnut.com/l/_xdx9Tc20mMXG


87. Evaluate:


Watch Video Solution

∫ dx
x2 + 1

(x − 1)
2
(x + 3)

88. Evaluate:


Watch Video Solution

∫ dx
x

(x − 1)(x2 + 4)

89. Evaluate:


Watch Video Solution

∫ dx
(log)exe

.

loge2e
.

loge3xe

x

90. Evaluate .

Watch Video Solution

∫x sin 3xdx

https://dl.doubtnut.com/l/_AGm80egOevCI
https://dl.doubtnut.com/l/_kWw35YZfdfap
https://dl.doubtnut.com/l/_AFobmMUlhoBL
https://dl.doubtnut.com/l/_caxT4TVPKvyf


91. Evaluate: .

Watch Video Solution

∫x logxdx

92. Evaluate 

Watch Video Solution

∫sin− 1 xdx.

93. Evaluate .

Watch Video Solution

∫2x3ex
2
dx

94. Evaluate 

Watch Video Solution

∫ dx
3 tan− 1 x

1 + x2

95. Evaluate:
∫ dx
x − sinx

1 − cos x

https://dl.doubtnut.com/l/_uQBFytMb1CVD
https://dl.doubtnut.com/l/_nfcpcZnDkx3G
https://dl.doubtnut.com/l/_KiqFktVATI92
https://dl.doubtnut.com/l/_EnNPQcdab6iM
https://dl.doubtnut.com/l/_Rz1TTMrOeDCF


Watch Video Solution

96. Evaluate:



 Where 

Watch Video Solution

∫(x)ispolynomialfunctionofthenthdegree, provethat −

∫exf(x)dx = ex[f(x)f ′ (x) + fx = fx + + ( − 1)nf ( n ) (x)]

f ( n ) (x)de¬es
dnf

dxn

97. Evaluate:


Watch Video Solution

∫sin− 1 √ dx.
x

a + x

98. Evaluate 

Watch Video Solution

∫ dx
loge(1 + sin2 x)

cos2 x

99. Evaluate .∫e2x sin 3xdx

https://dl.doubtnut.com/l/_Rz1TTMrOeDCF
https://dl.doubtnut.com/l/_P2EhvlN9yadZ
https://dl.doubtnut.com/l/_KoHfwVU2FBaQ
https://dl.doubtnut.com/l/_JQdMwcfP8Z8H
https://dl.doubtnut.com/l/_e9V78hHd5Oaj


Watch Video Solution

100. Evaluate .

Watch Video Solution

∫sin(logx)dx

101. Evaluate 

Watch Video Solution

∫sin− 1 xdx.

102. Evaluate:


Watch Video Solution

∫√1 + 3x − x2dx

103. Evaluate: 

Watch Video Solution

∫sec3 2xdx

https://dl.doubtnut.com/l/_e9V78hHd5Oaj
https://dl.doubtnut.com/l/_wVTNpQcp4iHK
https://dl.doubtnut.com/l/_Co8Yblz4B7Mo
https://dl.doubtnut.com/l/_JonB95MdmypZ
https://dl.doubtnut.com/l/_cAWkpLQk4VjC
https://dl.doubtnut.com/l/_xxG5PGuuFReQ


104. Evaluate: 

Watch Video Solution

∫(x − 5) √x2 + x dx

105. Evaluate:


Watch Video Solution

∫( − logxsin x)dx.
cos x

x

106. Evaluate .

Watch Video Solution

∫(3x2tan − xsec2 )dx
1

x

1

x

107. Evaluate:


Watch Video Solution

∫(log(logx) + )dx
1

(logx)
2

https://dl.doubtnut.com/l/_xxG5PGuuFReQ
https://dl.doubtnut.com/l/_Uc3HFsC9nqTV
https://dl.doubtnut.com/l/_2OdSXUZIxvXa
https://dl.doubtnut.com/l/_kW9e3CV8FuK3


108. Evaluate:


Watch Video Solution

∫ex( − )dx.
1

x

1

x2

109. Evaluate: 

Watch Video Solution

∫ex (logx + ) dx
1

x2

110. Evaluate:


Watch Video Solution

∫ dx
e×

(x + 1)2

111. Evaluate:


Watch Video Solution

∫ex( )dx
1 − sinx

1 − cos x

https://dl.doubtnut.com/l/_ZwAEh978pxai
https://dl.doubtnut.com/l/_TYJZtVFiP31w
https://dl.doubtnut.com/l/_JiKbwNeqCcrD
https://dl.doubtnut.com/l/_XauVE03nUgMf


112. Evaluate .

Watch Video Solution

∫ dx
logx

(1 + logx)2

113. Evaluate:


Watch Video Solution

∫
dx

x + x
1
2

1
3

114. Evaluate:


Watch Video Solution

∫ dx
x2 − 1

(x4 + 3x2 + 1)tan− 1(x + )1
x

115. Evaluate 

Watch Video Solution

∫( )

1 / 2

⋅
1 − √x

1 + √x

dx

x

https://dl.doubtnut.com/l/_nqgpnktyJSxo
https://dl.doubtnut.com/l/_uKgeYGjqdjTP
https://dl.doubtnut.com/l/_zCHrBymNJyRl
https://dl.doubtnut.com/l/_wRs7gpD48dKl


116. Integrate the functions 

Watch Video Solution

√x2 + 1[log(x2 + 1) − 2 logx]

x4

117. Evaluate: 

Watch Video Solution

∫  dx
(x2 + 1)

x4 − x2 + 1

118. Evaluate:


Watch Video Solution

∫( )dx
1 + x2

x4

119. If . Prove that

.

Watch Video Solution

In = ∫cosn xdx

In = (cosn− 1 x sinx) + ( )In− 2
1

n

n − 1

n

https://dl.doubtnut.com/l/_S4B8WOf2IF6M
https://dl.doubtnut.com/l/_pjeAX9OiHXCU
https://dl.doubtnut.com/l/_ZQhrETjf6vjc
https://dl.doubtnut.com/l/_QlvjG9n1smYL


120. Evaluate:


Watch Video Solution

∫
(1 − x sinx)dx

x(1 − x3e3 cos x)

121. 

Watch Video Solution

∫ dx
etan − 1 x

1 + x2

122. Evaluate:


Watch Video Solution

∫ dx
x2 − 1

(x2 + 1)√1 + x4

123. Evaluate 

Watch Video Solution

∫ .
xdx

x3√x2 − 1

https://dl.doubtnut.com/l/_FxeGakUczWVZ
https://dl.doubtnut.com/l/_4OX0eXJmlLcu
https://dl.doubtnut.com/l/_B0GKZsiodiNn
https://dl.doubtnut.com/l/_1laYFMjflpki


124. Evaluate 

Watch Video Solution

∫√ ⋅ sin− 1( √3 − x)dx
3 − x

3 + x

1

√6

125. Evaluate .

Watch Video Solution

∫esin − 1 xdx

126. Evalaute .

Watch Video Solution

∫x _ 1 / 2(2 + 3x1 / 3)
− 2

dx

127. Evaluate .

Watch Video Solution

∫sin− 1( )dx
2x + 2

√4x2 + 8x + 13

https://dl.doubtnut.com/l/_wXwWkrj1Ub4e
https://dl.doubtnut.com/l/_YTryLgNqke6O
https://dl.doubtnut.com/l/_UWJKoKxP08XE
https://dl.doubtnut.com/l/_GJDMcHrOzJ8q


Exercise 7.1

128. Evaluate: for 

Watch Video Solution

m ∈ N,

∫x3m + x2n + xm)(2x2m + 3xm + 6) dx, x > 0
1
m

129. 

Watch Video Solution

∫
dx

cos x√cos 2x

130. Answer the equation: 

Watch Video Solution

∫ dx
1 + cos 2x

sin2 x

1. Evaluate ∫(secx + tanx)2
dx

https://dl.doubtnut.com/l/_vNccz8HTYEAh
https://dl.doubtnut.com/l/_nHXms3tGEvxS
https://dl.doubtnut.com/l/_9PAymmV8gxN1
https://dl.doubtnut.com/l/_gCstzhusPvXP


Watch Video Solution

2. Evaluate 

Watch Video Solution

∫(1 − cos x)cosec2xdx

3. Evaluate:


Watch Video Solution

∫amxbnxdx

4. Evaluate 

Watch Video Solution

∫ dx
tanx

secx + tanx

5. If


Watch Video Solution

∫ dx = f(x) + c, the ≠ valuate∫ dx.
1

x + x5

x4

x + x5

https://dl.doubtnut.com/l/_gCstzhusPvXP
https://dl.doubtnut.com/l/_JXLSfkgP28qB
https://dl.doubtnut.com/l/_jJb5UH1nqMGQ
https://dl.doubtnut.com/l/_2z5i29qL5Umi
https://dl.doubtnut.com/l/_TizMaHbXuIFo


6. If


Watch Video Solution

∫ dx
(x3 + 8)(x − 1)

x2 − 2x + 4

7. 

Watch Video Solution

∫ dx
sin6 x + cos6 x

sin2 x cos2 x

8. Evaluate:
`inttan^(-1)(secx+tanx)dx ,-pi/2

Watch Video Solution

9. Integrate the following functions with respect to x. 

Watch Video Solution

cos 2x − cos 2α

cos x − cosα

https://dl.doubtnut.com/l/_Z5FJ7zcUNfV5
https://dl.doubtnut.com/l/_f4G4tiNIXQlC
https://dl.doubtnut.com/l/_1gc5IXfopxew
https://dl.doubtnut.com/l/_NSGcBEWuGlZs


Exercise 7.2

1. Evaluate:


Watch Video Solution

∫
dx

√x + √x − 2

2. Evaluate:


Watch Video Solution

∫(1 + 2x + 3x2 + 4x3 + )dx, ( < |x| < 1)

3. Evaluate:


Watch Video Solution

∫ dx
x3

x + 1

4. Evaluate:


Watch Video Solution

∫ dx
e3x + e5x

ex + e−x

https://dl.doubtnut.com/l/_UNwBzXi48jAG
https://dl.doubtnut.com/l/_U6NuKVbVJ5lg
https://dl.doubtnut.com/l/_dGrhCqkuF5Jb
https://dl.doubtnut.com/l/_lenBsNXlr8Ea
https://dl.doubtnut.com/l/_HJMoU5AXfJTN


Exercise 7.3

5. Evaluate 

Watch Video Solution

∫tan2 x sin2 xdx

6. Evaluate 

Watch Video Solution

∫ (2 + 2 sin 2x)dx
cos x − sinx

cos x + sinx

7. Evaluate 

Watch Video Solution

∫sinx cos x cos 2x cos 4x cos 8xdx

1. Evaluate 

Watch Video Solution

∫
dx

x + x logx

https://dl.doubtnut.com/l/_HJMoU5AXfJTN
https://dl.doubtnut.com/l/_j0arLZWpcv5F
https://dl.doubtnut.com/l/_qO00e0JyfHX6
https://dl.doubtnut.com/l/_zRMMueXinnlw
https://dl.doubtnut.com/l/_x0ScTW2kIvPl


2. Evaluate 

Watch Video Solution

∫ dx
x + 1

x(x + loge x)

3. Evaluate:

Watch Video Solution

∫{1 + tanx tan(x + θ)} dx

4. Evaluate 

Watch Video Solution

∫ dx
1 + x2 loge x

x + x2 loge x

5. Evaluate:


Watch Video Solution

∫ dx
(1 + 1nx)

5

x

https://dl.doubtnut.com/l/_x0ScTW2kIvPl
https://dl.doubtnut.com/l/_PFEC3q6nI7qn
https://dl.doubtnut.com/l/_a8ERHFjpDnZz
https://dl.doubtnut.com/l/_8vDo0fIHqnXx


6. 

Watch Video Solution

I = ∫   dx
loge(loge x)

x(loge x)

7. Evaluate 

Watch Video Solution

∫( )(x + logx)2
dx

x + 1

x

8. Evaluate 

Watch Video Solution

∫ dx
√tanx

sinx cos x

9. Evaluate 

Watch Video Solution

∫cosec4xdx

https://dl.doubtnut.com/l/_uzte51rNeNjz
https://dl.doubtnut.com/l/_8N8DkWZjuCez
https://dl.doubtnut.com/l/_1TUvShl65Xss
https://dl.doubtnut.com/l/_dAOOte03dHy0


10. Evaluate 

Watch Video Solution

∫ dx
sin6 x

cos8 x

11. Evaluate 

Watch Video Solution

∫
xdx

1 + sinx

12. Evaluate:


Watch Video Solution

∫ dx
sinx

sin(x − a)

13. Evaluate 

Watch Video Solution

∫tan3 xdx

14. Evaluate ∫
dx

cot2 x − 1

https://dl.doubtnut.com/l/_Hv5E1KOhTXID
https://dl.doubtnut.com/l/_lKXBtQvlugjp
https://dl.doubtnut.com/l/_kFnpc2cS5fQD
https://dl.doubtnut.com/l/_SgomD3MveYUM
https://dl.doubtnut.com/l/_I0QCRgExBo4t


Exercise 7.4

Watch Video Solution

15. Evaluate:


Watch Video Solution

∫ dx
1

x2√1 + x2

16. `I=int(dx)/((2a x-x^2)

Watch Video Solution

1. 

Watch Video Solution

∫ dx
sin 2x

(a + b cos x)
2

2. Evaluate: ∫ dx
x2 tan− 1 x3

1 + x6

https://dl.doubtnut.com/l/_I0QCRgExBo4t
https://dl.doubtnut.com/l/_McJrkn9vb2S0
https://dl.doubtnut.com/l/_qxgSiL3NJCf1
https://dl.doubtnut.com/l/_ckFOyVPTQ9rg
https://dl.doubtnut.com/l/_b0GSHuDeNkJv


Watch Video Solution

3. Evaluate:


Watch Video Solution

∫
√xdx

1 + x

4. Evaluate 

Watch Video Solution

∫
dx

x + √x

5. Evaluate:


Watch Video Solution

∫ dx
e2x − 2ex

e2x + 1

6. Evaluate: 

Watch Video Solution

∫  dx
1

ex + e−x

https://dl.doubtnut.com/l/_b0GSHuDeNkJv
https://dl.doubtnut.com/l/_N8LvVLJNjEYt
https://dl.doubtnut.com/l/_mHBWHNEhhnEA
https://dl.doubtnut.com/l/_MdsHlMrmKpok
https://dl.doubtnut.com/l/_fglt761D3yKH


7. Evaluate:


Watch Video Solution

∫ dx
log(1 + )1

x

x(1 + x)

8. Evaluate:


Watch Video Solution

∫ dx
ax3 + bx

x4 + c2

9. Evaluate:


Watch Video Solution

∫
dx

x (1 + x )
2
3

2
3

10. Evaluate 

Watch Video Solution

∫e3 logx(x4 + 1)
− 1

dx

https://dl.doubtnut.com/l/_QLdieFFJIVzQ
https://dl.doubtnut.com/l/_UNwjQGpOB3XU
https://dl.doubtnut.com/l/_pGXXlQtDE0jT
https://dl.doubtnut.com/l/_v3l6lno7SNRA


11. 

Watch Video Solution

∫ dx =
secx

√cos 2x

12. Evaluate 

Watch Video Solution

∫sin3 x cos2 xdx

13. Evaluate:


Watch Video Solution

∫
ddx

√1 + x2 + √(1 + x2)3

14. Evaluate:


Watch Video Solution

∫ dx
(x − x3)

1
3

x4

https://dl.doubtnut.com/l/_7B8XZVt6UlgM
https://dl.doubtnut.com/l/_f9Ly2pGRbFYi
https://dl.doubtnut.com/l/_u8DsSw4UuGWk
https://dl.doubtnut.com/l/_ebxULaASGIy1


15. Evaluate:


Watch Video Solution

∫
dx

x2(1 + x5)
4
5

16. Evaluate:


Watch Video Solution

∫
dx

x2(x4 + 1)
3
4

17. Evaluate: 

Watch Video Solution

∫  dx
(x4 − x)

1 / 4

x5

18. Evaluate:


Watch Video Solution

∫xx1n(ex)dx

https://dl.doubtnut.com/l/_1x4C1tzjLaPo
https://dl.doubtnut.com/l/_p08GieSGTj3b
https://dl.doubtnut.com/l/_jkW1ashG3cLu
https://dl.doubtnut.com/l/_7c6vwotwFaEI


Exercise 7.5

19. Evaluate:


Watch Video Solution

∫
dx

(x − p)√(x − p)(x − q)

20. Evaluate:


Watch Video Solution

∫ dx

[√1 + x2 + x]
n

√1 + x2

1. Evaluate 

Watch Video Solution

∫
dx

1 − x − x2

2. Evaluate 

Watch Video Solution

∫ dx
x2 − √3x + 1

x4 − x2 + 1

https://dl.doubtnut.com/l/_0oLxkS7khEPg
https://dl.doubtnut.com/l/_NGFf1WFRcP7U
https://dl.doubtnut.com/l/_Lfpr8toDX4qB
https://dl.doubtnut.com/l/_M2gbiRAuf1IZ


3. Evaluate:


Watch Video Solution

∫ dx
x2

x6 − a6

4. Evaluate: 

Watch Video Solution

∫  dx
sinx

cos 2x

5. Evaluate:


Watch Video Solution

∫ dx
ex

e2x + 6ex + 5

6. Evaluate ∫ (x+2)(x 2
+1)
(x 2
+x+1)
​
dx

Watch Video Solution

https://dl.doubtnut.com/l/_M2gbiRAuf1IZ
https://dl.doubtnut.com/l/_moyH3RNSjCDj
https://dl.doubtnut.com/l/_rzhP1CbqWzhn
https://dl.doubtnut.com/l/_LNlzNmjqqWpz
https://dl.doubtnut.com/l/_F9JH9LLzBSLE


Exercise 7.6

7. Evaluate:


Watch Video Solution

∫ dx
1

x4 + 1

8. Evaluate:


Watch Video Solution

∫ dx
1

sin4 x + cos4 x

9. Evaluate:


Watch Video Solution

∫ dx
x4 + 1

x6 + 1

1. Evaluate:


Watch Video Solution

∫ dx
x2

√1 − x6

https://dl.doubtnut.com/l/_xoN6PQWlSecs
https://dl.doubtnut.com/l/_TRZJIxef6ilm
https://dl.doubtnut.com/l/_74NLcyrcB6rQ
https://dl.doubtnut.com/l/_QI1eYrNynhjb


2. Evaluate:


Watch Video Solution

∫√ dx
x

a3 − x3

3. Evaluate:


Watch Video Solution

dx
1

√1 − e2x

4. Evaluate 

Watch Video Solution

∫ dx
2x + 3

√x2 + 4x + 9

5. Evaluate:


Watch Video Solution

∫ dx
x

5
2

√1 + x7

https://dl.doubtnut.com/l/_N6grgx5Hn7XC
https://dl.doubtnut.com/l/_3ZDlHqmrDrEZ
https://dl.doubtnut.com/l/_nVirVvJ208qJ
https://dl.doubtnut.com/l/_dlvNXldqFzFU


Exercise 7.7

6. Evaluate 

Watch Video Solution

∫√1 + cosecxdx, (π/2 < x < π)

1. Evaluate 

Watch Video Solution

∫ dx.
1

3 + sin 2x

2. Evaluate:


View Text Solution

∫
dx

9 + 16 sin2 x

3. Evaluate:


Watch Video Solution

∫ dx
x + 1

(x − 1)√x + 2

https://dl.doubtnut.com/l/_IOsdnl7FfWDJ
https://dl.doubtnut.com/l/_2DNDRDzsB3Sm
https://dl.doubtnut.com/l/_36xlErjYhddO
https://dl.doubtnut.com/l/_qR0r6pQxdCVz


4. Evaluate 

Watch Video Solution

∫
dx

√1 + ex + e2x

5. Evaluate:


View Text Solution

∫ dx
1

(x + 1)√x2 − 1

6. Evaluate:


Watch Video Solution

∫ dx
x2 − 1

(x2 + 1)√1 + x4

7. Evaluate:


Watch Video Solution

∫ dx
x

(x2 + 4)√x2 + 1

https://dl.doubtnut.com/l/_NS45Wt1vSceo
https://dl.doubtnut.com/l/_ZMqMxphmPsLb
https://dl.doubtnut.com/l/_WF5GirngcBop
https://dl.doubtnut.com/l/_Sc5hvn167g0n


Exercise 7.8

8. Evaluate:


Watch Video Solution

∫ dx
1

(x + 1)√x2 + x + 1

9. Evaluate: 

Watch Video Solution

∫  dx
x − 1

(x + 1)√x3 + x2 + x

10. Evaluate 

View Text Solution

∫(√tanx + √cot x)dx

1. Evaluate:


Watch Video Solution

∫ dx
1

(x2 − 4)√x + 1

https://dl.doubtnut.com/l/_jvqw2umP3IVJ
https://dl.doubtnut.com/l/_bsPkgr37ii2q
https://dl.doubtnut.com/l/_glAZtq1vHG6C
https://dl.doubtnut.com/l/_yHyUQUPXXzxp


2. Evaluate:


Watch Video Solution

∫ dx
x2 + 1

x(x2 − 1)

3. Evaluate:


View Text Solution

∫ dx
1

x4 − 1

4. The product of n positive numbers is unity, then their sum is

Watch Video Solution

5. Evaluate:


Watch Video Solution

∫
dx

sinx(3 + cos2 x)

6. Evaluate:
∫
cos 2x sin 4xdx

cos4 x(1 + cos2 2x)

https://dl.doubtnut.com/l/_K3cBTDpOfO8I
https://dl.doubtnut.com/l/_SkdBru94Uq3M
https://dl.doubtnut.com/l/_YWUovzxYFS8C
https://dl.doubtnut.com/l/_CnzW1gcz4TYt
https://dl.doubtnut.com/l/_wdNWea79thrN


Exercise 7.9

Watch Video Solution

7. Evaluate:


Watch Video Solution

∫
1 − cos x

cos x(1 + cos x)dx

1. Evaluate 

Watch Video Solution

∫sin2 xdx

2. Evaluate 

Watch Video Solution

∫cos √xdx

3. Evaluate:
∫tan− 1√xdx

https://dl.doubtnut.com/l/_wdNWea79thrN
https://dl.doubtnut.com/l/_kpR5dF348XqI
https://dl.doubtnut.com/l/_XLkM6BaYMgek
https://dl.doubtnut.com/l/_vZMvXhDVu2hP
https://dl.doubtnut.com/l/_W5dshJv9gB1z


Watch Video Solution

4. Evaluate:


Watch Video Solution

if ∫f(x)dx = g(x), then∫f − 1(x)dx

5. Evaluate 

Watch Video Solution

∫ [f(x)gn(x) − fn(x)g(x)]dx

6. Evaluate:


Watch Video Solution

if ∫g(x)dx = g(x), then∫g(x){f(x) + f ′ (x)}dx

7. Evaluate 

Watch Video Solution

∫(logx)2
dx

https://dl.doubtnut.com/l/_W5dshJv9gB1z
https://dl.doubtnut.com/l/_y2kezFz8PnsM
https://dl.doubtnut.com/l/_S1RYKaJunqIe
https://dl.doubtnut.com/l/_Nq4maskevltH
https://dl.doubtnut.com/l/_nW6xVb1IKvMC
https://dl.doubtnut.com/l/_jtXdU9cSJzdR


8. 

Watch Video Solution

∫ dx
x sin− 1 x

√1 − x2

9. Evaluate:


View Text Solution

∫tan− 1 √ dx
1 − x

1 + x

10. Evaluate:


View Text Solution

∫cos x log(tan )dx
x

2

11. Evaluate:


Watch Video Solution

∫sin2(logx)dx

12. Evaluate:
∫ex(1 + tanx + tan2 x)dx

https://dl.doubtnut.com/l/_jtXdU9cSJzdR
https://dl.doubtnut.com/l/_jkxLvtEQ6HbJ
https://dl.doubtnut.com/l/_ZxCcRILEZUtE
https://dl.doubtnut.com/l/_KcofSO8nFWbo
https://dl.doubtnut.com/l/_vxFLkTgNMFVl


Exercise (Single)

Watch Video Solution

13. Evaluate:


View Text Solution

∫
ex(2 − x2)dx

(1 − x)√1 − x2

14. Evaluate 

Watch Video Solution

∫( )

2

dx
logx − 1

1 + (logx)2

15. Evaluate 

Watch Video Solution

∫√x2 + 2x + 5dx

https://dl.doubtnut.com/l/_vxFLkTgNMFVl
https://dl.doubtnut.com/l/_4Ou77KxLYCg9
https://dl.doubtnut.com/l/_5oHbP8VRrMHq
https://dl.doubtnut.com/l/_Sh02kUYCJg7W


1. Integrate the functions 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

sin8 x − cos8 x

1 − 2 sin2 x cos2 x

sin 2x + C
1

2

− sin 2x + C
1

2

− sinx + C
1

2

−sin2 x + C

2. 

A. 

B. 

C. 

If ∫ dx = A cos 4x + B,  then 
cos 4x + 1

cot x − tanx

A = − 1/2

A = − 1/8

A = − 1/4

https://dl.doubtnut.com/l/_AvRt5Ez3hCq0
https://dl.doubtnut.com/l/_Mt7h3659j1vP


D. none of these

Answer: B

Watch Video Solution

3. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫(√ + √ )dx  is equal to 
a + x

a − x

a − x

a + x

2 sin− 1(x/a) + c

2a sin− 1(x/a) + c

2 cos − 1(x/a) + c

2a cos − 1(x/a) + c

4. ∫√1 − sinxdx  is equal to 

https://dl.doubtnut.com/l/_Mt7h3659j1vP
https://dl.doubtnut.com/l/_TqIV7ok2dQsi
https://dl.doubtnut.com/l/_tumlzcioNiOW


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

−2√1 − sinx + C

sin(x/2) + cos(x/2) + C

cos(x/2) − sin(x/2) + C

2√1 + sinx + C

5. Evaluate: 

Watch Video Solution

∫  dx
(3 sinx − 2)cos x

5 − cos2 x − 4 sinx

6. If 
 
 (b) 


(c) 
(d) 1

A. 

B. 

∫√1 + sinxf(x)dx = (1 + sinx) + c, thenf(x)equal
2

3

3
2 cos x

sinx tanx

cos x

sinx

https://dl.doubtnut.com/l/_tumlzcioNiOW
https://dl.doubtnut.com/l/_UMOg61UBVuW1
https://dl.doubtnut.com/l/_oj2gjBYFbkjR


C. 

D. 

Answer: A

Watch Video Solution

tanx

1

7. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫ dx  is equal to 
√x − 1

x√x + 1

ln ∣
∣x − √x2 − 1∣

∣ − tan− 1 x + c

In ∣
∣x + √x2 − 1∣

∣ − tan− 1 x + c

In ∣
∣x − √x2 − 1∣

∣ − sec− 1 x + c

In ∣
∣x + √x2 − 1∣

∣ − sec− 1 x + c

https://dl.doubtnut.com/l/_oj2gjBYFbkjR
https://dl.doubtnut.com/l/_9dVVCwz1UHP8


8. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

IfI = ∫ , thenIequals
dx

secx + cos ecx

(cos x + sinx − log(cos ecx − cos x)) + C
1
2

1

√2

(sinx − cos x − log|cos ecx + cot x|) + C
1

2

1

√2

(sinx + cos x + log|cos ecx − cos x|)
1

√2

1

2

[sinx − cos x] − log ∣ cos ec(x + )
1

2

1

√2

π

4

(cos x + sinx − log(cosecx − cos x)) + C
1

2

1

√2

(sinx − cos x − log|cosecx − cot x|) + C
1

2

1

√2

(sinx + cos x + log|cosecx − cos x|) + C
1

√2

1

2

[sinx − cos x] − log|cosec(x + π/4) − cot(x + π/4)| + C
1

2

1

√2

9.  is equal to (where, C is a constant of integration)∫ dx
sin 5x

3

sin x

2

https://dl.doubtnut.com/l/_ZRMbZ7NIett5
https://dl.doubtnut.com/l/_i653I2p87GEf


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(x + loge
∣
∣cos(x − )∣

∣) + c
1

√2

π

4

(x − loge
∣
∣sin(x − )∣

∣) + c
1

√2

π

4

√2(x + loge
∣
∣sin(x − )∣

∣) + c
π

4

(x + loge
∣
∣sin(x − )∣

∣) + c
1

√2

π

4

10. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫ dx
cos 5x + cos 4x

1 − 2 cos 3x

+ cos x + c
sin 2x

2

− cos x + c
sin 2x

2

− − sinx + c
sin 2x

2

− cos x + c
sin 2x

2

https://dl.doubtnut.com/l/_i653I2p87GEf
https://dl.doubtnut.com/l/_muuH2C2ZFiWY


11. 


none of these

A. 

B. 

C. 

D. non of these

Answer: B

Watch Video Solution

IfI = ∫√ dx, thenIequal
5 − x

2 + x

√x + 2√5 + x + 3 sin− 1 √ + C
x + 2

3

√x + 2√5 − x + 7 sin− 1 √ + C
x + 2

7

√x + 2√5 − x + 5 sin− 1 √ + C
x + 2

5

√x + 2√5 − x + 3 sin− 1 √ + C
x + 2

3

√x + 2√5 − x + 7 sin− 1 √ + C
x + 2

7

√x + 2√5 − x + 5 sin− 1 √ + C
x + 2

5

12.  is equal to

A. 

∫ dx
sin 2x

sin 5x sin 3x

log sin 3x − log sin 5x + c

https://dl.doubtnut.com/l/_muuH2C2ZFiWY
https://dl.doubtnut.com/l/_GQ5JTb85o7qi
https://dl.doubtnut.com/l/_1xfFFuEmeT2H


B. 

C. 

D. 

Answer: C

Watch Video Solution

log sin 3x + log sin 5x + c
1

3

1

5

log sin 3x − log sin 5x + c
1

3

1

5

3 log sin 3x − 5 log sin 5x + c

13.  is

A. 

B. 

C. 

D. non of these

Answer: A

Watch Video Solution

∫
dx

x(x + 1)

log( ) + c
1

n

xn

xn + 1

log( ) + c
1

n

xn + 1
xn

log( ) + c
xn

xn + 1

https://dl.doubtnut.com/l/_1xfFFuEmeT2H
https://dl.doubtnut.com/l/_z4XmLViw70GH
https://dl.doubtnut.com/l/_kr6r9gl5EYja


14. Evaluate: 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫  dx,  α ≠ nπ,   n ∈ Z
1

√sin3 x sin(x + α)

−2cosecα(cosα − tanx sinα)1 / 2 + C

−2(cosα + cot x sinα)1 / 2 + C

−2cosecα(cosα − cot x sinα)1 / 2 + C

−2cosecα(sinα − cot x cosα)1 / 2 + C

15.  is equal to 


(1)       
(2)        


(3)       
(4)       

A. 

B. 

∫ dx
pxp+ 2q− 1 − qxq− 1

x2p+ 2q + 2xp+q + 1

− + C
xp

xp+q + 1
+ C

xq

xp+q + 1

− + C
xq

xp+q + 1
+ C

xp

xp+q + 1

− + C
xp

xp+q + 1

+ C
xq

xp+q + 1

https://dl.doubtnut.com/l/_kr6r9gl5EYja
https://dl.doubtnut.com/l/_eh9VfnY55n2J


C. 

D. 

Answer: C

Watch Video Solution

− + C
xq

xp+q + 1

+ C
xp

xp+q + 1

16. If  and  when  , then value of y when

 is

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

y = ∫ dx
1

(1 + x2)
3
2

y = 0 x = 0

x = 1

1

√2

√2

2√2

https://dl.doubtnut.com/l/_eh9VfnY55n2J
https://dl.doubtnut.com/l/_uE5iBrvRwRbQ
https://dl.doubtnut.com/l/_5KwfnVbzPKMU


17. 

A. 

B. 

C. 

D. non of these

Answer: C

Watch Video Solution

∫√x(1 + x1 / 3)
4
dx  is equal to 

2{x2 / 3 + x11 / 6 + x13 / 6 + x5 / 2 + x17 / 6} + c
4
11

6

13
4
15

1

17

6{x2 / 3 − x11 / 6 + x13 / 6 − x5 / 2 + x17 / 6} + c
4
11

6

13
4
15

1

17

6{ x3 / 2 + x11 / 6 + x13 / 6 + x5 / 2 + x17 / 6} + c
1

9
4
11

6

13
4
15

1

17

18. 

A. 

B. 

C. 

D. non of these

∫ dx  is equal to 
In(tanx)

sinx cos x

In(tanx) + c
1

2

In(tan2 x) + c
1

2

(In(tanx))
2

+ c
1

2

https://dl.doubtnut.com/l/_5KwfnVbzPKMU
https://dl.doubtnut.com/l/_hoacnsU7hHw4


Answer: C

Watch Video Solution

19. If m is a non-zero number and ,

then f(x) is:

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫ dx = f(x) + c
x5m− 1 + 2x4m− 1

(x2m + xm + 1)3

+ c
x6m + x2m

2m(x2m + xm + 1)2

+ c
x4m

2m(x2m + xm + 1)2

+ c
2mx4m

(x2m + xm + 1)
2

+ c
mx5m

2(x2m + xm + 1)
2

20. If 
 means 
 the 
 being repeated 
 times, then 


 is equal to
 
 (b) 

l ′ (x) log log logx, log r

∫[xl(x)l2(x)l3(x)l ′ (x)]
− 1

ds lr+ 1(x) + C + C
lr+ 1(x)

r + 1

https://dl.doubtnut.com/l/_hoacnsU7hHw4
https://dl.doubtnut.com/l/_C3d3LIXfpAXn
https://dl.doubtnut.com/l/_MrB6eWusdO2D



(d) none of these

A. 

B. 

C. 

D. non of these

Answer: A

Watch Video Solution

lr(x) + C

lr+ 1(x) + C

+ C
lr+ 1(x)

r + 1

lr(x) + C

21. Find 

A. 

B. 

C. 

D. 

Answer: B

∫[√cot x + √tanx]dx

√2 log(√tanx − √cot x) + C

√2 log∣∣sinx + cos x + √sin 2x∣∣ + C

√2 log∣∣sinx − cos x + √2 sinx cos x∣∣ + C

√2 log∣∣sin(x + π/4) + √2 sinx cos x∣∣ + C

https://dl.doubtnut.com/l/_MrB6eWusdO2D
https://dl.doubtnut.com/l/_SOTQZJqfp2IQ


Watch Video Solution

22. If  then  equals

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

I = ∫ dx,
sin 2x

(3 + 4 cos x)3
I

+ C
3 cos x + 8

(3 + 4 cos x)2

+ C
3 + 8 cos x

16(3 + 4 cos x)
2

+ C
3 + cos x

(3 + 4 cos x)
2

+ C
3 − 8 cos x

16(3 + 4 cos x)2

23. 





∫ dxisequa < o
ln( )x− 1

x+ 1

x2 − 1
(ln( ))

2

+ C
1

2

x − 1

x + 1

(ln( ))
2

+ C
1

2

x + 1

x − 1
(ln( ))

2

+ C
1

4

x − 1

x + 1

(ln( ))
2

+ C
1

4

x + 1

x − 1

https://dl.doubtnut.com/l/_SOTQZJqfp2IQ
https://dl.doubtnut.com/l/_Bzi15qGxJr5p
https://dl.doubtnut.com/l/_tHg7IjyEUHFg


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(In( ))
2

+ C
1
2

x − 1

x + 1

(In( ))
2

+ C
1

2

x + 1

x − 1

(In( ))
2

+ C
1

4

x − 1

x + 1

(In( ))
1

4

x + 1

x − 1

24.  is equal to

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫√ex − 1dx

2[√ex − 1 − tan− 1 √ex − 1] + c

√ex − 1 − tan− 1 √ex − 1 + c

√ex − 1 + tan− 1 √ex − 1 + c

2[√ex − 1 + tan− 1 √ex − 1] + c

https://dl.doubtnut.com/l/_tHg7IjyEUHFg
https://dl.doubtnut.com/l/_mHooA4nihObp


25. 

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

∫√ dx =
x2 + 1

x2(1 − x2)

loge
∣
∣
∣

∣
∣
∣

+ sin− 1(x2) + C
1

4
1 − √1 − x4

1 + √1 − x4

1

2

loge
∣
∣
∣

∣
∣
∣

+ cos − 1(x2) + C
1

2
1 − √1 − x4

1 + √1 − x4

1

2

loge
∣
∣
∣

∣
∣
∣

+ sin− 1(x2) + C
1

2
1 − √1 − x4

1 + √1 − x4

loge
∣
∣
∣

∣
∣
∣

+ cos − 1(x2) + C
1 − √1 − x4

1 + √1 − x4

1

2

26.  is equal to

A. 

B. 

C. 

∫ dx
√x2 + 10x + 24

x + 5

√x2 + 10x + 24 + sec− 1(x + 5) + c

√x2 + 10x + 24 − cosec− 1(x + 5) + c

sec− 1(x + 5) − √x2 + 10x + 24 + c

https://dl.doubtnut.com/l/_mHooA4nihObp
https://dl.doubtnut.com/l/_cUVmTBx8OYHT
https://dl.doubtnut.com/l/_QBu2dhmJr3h8


D. 

Answer: D

Watch Video Solution

√x2 + 10x + 24 − sec− 1(x + 5) + c

27. The value of 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫ dx  is 
1 + logx

√(xx)
2

− 1

sec− 1(xx) + c

tan− 1(xx) + c

log(xx + √x2x − 1) + c

cot − 1(xx) + c

https://dl.doubtnut.com/l/_QBu2dhmJr3h8
https://dl.doubtnut.com/l/_q9QQCOo8U2DO


28. If then A)

A=1/8,B=-1/


A. 

B. 

C. 

D. non of these

Answer: B

Watch Video Solution

∫x5(1 + x3) dx = A(1 + x3) + B(1 + x3) + C,
2
3

8
3

5
3

A = , B =
1

4

1

5
(b) A = − , B = (d)no ≠ ofthese

1

8

1

5

A = , B =
1

4

1

5

A = , B = −
1

8

1

5

A = − , B =
1

8

1

5

29. 



 
(d) 

A. 

B. 

C. 

∫ dxisequa < o
sin 2x

sin4 x + cos4 x
cot − 1(tan2 x) + c

tan− 1(tan2 x) + c cot − 1(cot2 x) + c tan− 1(cot2 x) + c

cot − 1(tan2 x) + c

tan− 1(tan2 x) + c

cot − 1(cot2 x) + c

https://dl.doubtnut.com/l/_BNXiRgDt37Ax
https://dl.doubtnut.com/l/_otyyI0P8yPmt


D. 

Answer: B

Watch Video Solution

tan− 1(cot2 x) + c

30. 
 is equal to
 
 (b) 


 
(d) none of these

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

∫ dx
x + 2

(x2 + 3x + 3)√x + 1
tan− 1( )

1

3
x

√3(x + 1)

tan− 1( )
2

√3

x

√3(x + 1)
tan− 1( )

2

√3

x

√x + 1

tan− 1( )
1

√3

x

√3(x + 1)

tan− 1( )
2

√3

x

√3(x + 1)

tan− 1( )
2

√3

x

√x + 1

https://dl.doubtnut.com/l/_otyyI0P8yPmt
https://dl.doubtnut.com/l/_8sTzofKHl0Ty
https://dl.doubtnut.com/l/_Xp9hww8PPQ2s


31. 

A. 

B. 

C. 

D. non of these

Answer: C

Watch Video Solution

∫  is equal to 
secxdx

√sin(2x + A) + sinA

√tanx cosA − sinA + c
secA

√2

√2 secA√tanx cosA − sinA + c

√2 secA√tanx cosA + sinA + c

32.  is equal to

A. 

B. 

C. 

D. 

∫ dx, x ∈ (0, )
cos 2x

(e−x + cos x)√1 + sin 2x

π

2

loge|1 + ex sinx| + c

loge|ex + cos x| + c

loge|1 + ex cos x| − x + c

loge|1 + ex cos x| + c

https://dl.doubtnut.com/l/_Xp9hww8PPQ2s
https://dl.doubtnut.com/l/_ZIZiYgRVROc2


Answer: D

Watch Video Solution

33. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

If ∫ dx = A cos 4x + B,  then 
cos 4x + 1

cot x − tanx

In|sec 2x| − cos2 2x + c
1

2

1

4

In|sec 2x| + cos2 x + c
1

2

1

4

In|cos 2x| − cos2 2x + c
1

2

1

4

In|cos 2x| + cos2 x + c
1

2

1

4

34. If  then  is (A)  (B) 

 (C)  (D) 

∫ = − (f(x)) + C
dx

x2(xn + 1)
n− 1
n

1
n f(x) 1 + xn

1 + x−n xn + x−n xn − x−n

https://dl.doubtnut.com/l/_ZIZiYgRVROc2
https://dl.doubtnut.com/l/_h4iAoozbxn2G
https://dl.doubtnut.com/l/_fpUQEuX6ybIL


A. 

B. 

C. 

D. non of these

Answer: B

Watch Video Solution

(1 + xn)

1 + x−n

xn + x−n

35.  is equal to





A. 

B. 

C. 

D. non of these

Answer: C

∫√ dx
cos x − cos3 x

1 − cos3 x
OptionA : sin− 1(cos x) + C

2

3

3
2

OptionB : sin− 1(cos x) + C
3

2

3
2 OptionC : cos − 1(cos x) + C

3

2

3
2

sin− 1(cos3 / 2 x) + C
2

3

sin− 1(cos3 / 2 x) + C
3

2

cos − 1(cos3 / 2 x) + C
2

3

https://dl.doubtnut.com/l/_fpUQEuX6ybIL
https://dl.doubtnut.com/l/_su8cWuWjs45n


Watch Video Solution

36. 







A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫x(( + )dx(wherea, b ∈ R+ )isequa < o
lna

x

2

3a b3x
5x
2

ln bb ^ x

2a2xb4x

a2xb3x + k
1

6lna2
b3

ln(a2xb3x)

e
+ k

1

6lna2
b3

1

a2xb3x

ln 1

ea2xb3x

ln(a2xb3x) + k
1

6lna2b3

1

a2xb3x
− ln(a2xb3x) + k

1

6lna2b3

1

a2xb3x

a2xb3xIn + k
1

6Ina2b3

a2xb3x

e

In + k
1

6Ina2b3

1

a2xb3x

1

ea2xb3x

In(a2xb3x) + k
1

6Ina2b3

1

a2xb3x

− In(a2xb3x) + k
1

6Ina2b3

1

a2xb3x

37. 
 
 (b) 


 
(d) 

∫ dxisequa < o
3 + 2 cos x

(2 + 3 cos x)2
( ) + c

sinx

3 cos x + 2

( ) + c
2 cos x

3 sinx + 2
( ) + c

2 cos x

3 cos x + 2
( ) + c

2 sinx

3 sinx + 2

https://dl.doubtnut.com/l/_su8cWuWjs45n
https://dl.doubtnut.com/l/_s2kgtx26iXbz
https://dl.doubtnut.com/l/_ekwIOSwJgQAJ


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

( ) + c
sinx

3 cos x + 2

( ) + c
2 cos x

3 sinx + 2

( ) + c
2 cos x

3 cos x + 2

( ) + c
2 sinx

3 sinx + 2

38.  is equal to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

If f(x) = f' (x),  then ∫ dx
d

dx

xf' (x) − 2f(x)

√x4f(x)

+ c
x2

f(x)

|x|f' (x) + c

+ c
2√f(x)

|x|

|x|√f(x) + c

https://dl.doubtnut.com/l/_ekwIOSwJgQAJ
https://dl.doubtnut.com/l/_05d6CKwoxNJi


Watch Video Solution

39. The value of the integral 


(b) 
 
(d)
none of these

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

∫ dthηis
(1 − cos θ)

2
7

(1 + cos θ)
9
7

(tan ) + C
7
11

θ

2

11
7

( ) + C
7
11

cos θ

2

11
7

(s∫h ) + C
7
11

η

2

11
7

(tan ) + C
7
11

θ

2

11
7

(cos ) + C
7
11

θ

2

11
7

(sin ) + C
7
11

θ

2

11
7

40. If  then

A. 

∫ = a√cot x + b√tan3 x + c,
dx

√sin3 x cos5 x

a = − 1, b = 1/3

https://dl.doubtnut.com/l/_05d6CKwoxNJi
https://dl.doubtnut.com/l/_hkD0Kb12Vq2E
https://dl.doubtnut.com/l/_02QvhqkB2hXp


B. 

C. 

D. 

Answer: D

Watch Video Solution

a = − 3, b = 2/3

a = − 2, b = 4/3

a = − 2, b = 2/3

41. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

I f∫ = a(tan2 x + b)√tanx + c
dx

cos3 x√sin 2x

a = , b =
√2

5

1

√5

a = , b = 5
√2

5

a = , b = −
√2

5

1

√5

a = , b = √5
√2

5

https://dl.doubtnut.com/l/_02QvhqkB2hXp
https://dl.doubtnut.com/l/_CcRfLZyNybSW
https://dl.doubtnut.com/l/_ehwQ9gcwlpJi


42. If

,

then

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫ = a log∣∣1 + x2∣∣ + b tan− 1 x + log|x + 2| + C
dx

(x + 2)(x2 + 1)

1

5

a = − , b = −
1

10

2

5

a = , b = −
1

10

2

5

a = − , b =
1

10

2

5

a = , b =
1

10

2

5

43. 


A. 

B. 

C. 

If∫ dx = ax + b ln(4ex + 5e−x) + C, then
3ex − 5e− 1

4ex + 5e−x

a = − , b =
1

8
7
8

a = , b =
1

8
7
8

a = − , b = −
1

8
7
8

https://dl.doubtnut.com/l/_ehwQ9gcwlpJi
https://dl.doubtnut.com/l/_f1Ff1iuKvXQ3


D. 

Answer: A

Watch Video Solution

a = , b = −
1

8
7
8

44. If  is

equal to

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫f(x)sinx cos xdx = In f(x) + c,  then f(x)
1

2(b2 − a2)

1

a2 sin2 x + b2 cos2 x

1

a2 sin2 x − b2 cos2 x

1

a2 cos2 x + b2 sin2 x

1

a2 cos2 x − b2 sin2 x

https://dl.doubtnut.com/l/_f1Ff1iuKvXQ3
https://dl.doubtnut.com/l/_NlpzvyQvhXiI


45.  is equal to

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫ dx
x9

(4x2 + 1)
6

(4 + )
− 5

+ C
1

5x

1

x2

(4 + )
− 5

+ C
1

5

1

x2

(1 + 4x2)
− 5

+ C
1

10

(4 + )
− 5

+ C
1

10

1

x2

46. If 
 
(b) 

(c) 
(d0 

A. 

B. 

C. 

∫ dx = a log
∣
∣
∣

∣
∣
∣

+ b, thenaisequal
1

x√1 − x3

√1 − x3 − 1

√1 − x3 + 1

1

3

2

3

−
1

3
−

2

3

1/3

2/3

−1/3

https://dl.doubtnut.com/l/_WWS3jminbqHm
https://dl.doubtnut.com/l/_alszqocG9xtE


D. 

Answer: A

Watch Video Solution

−2/3

47. The value of the integral 
 is



 (b) 
 
 (d) none of

these

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

∫(x2 + x)(x− 8 + 2x− 9) dx
1
10

(x2 + 2x) + c
5

11

11
10 (x + 1x) + c

5

6

11
10 (x + 1) + c

6

7

11
10

(x2 + 2x)
11 / 10

+ c
5

11

(x + 1)11 / 10 + c
5

6

(x + 1)11 / 10 + c
6

7

https://dl.doubtnut.com/l/_alszqocG9xtE
https://dl.doubtnut.com/l/_HYSD8gySs2c1
https://dl.doubtnut.com/l/_TT3b2ugpZjXS


48. 



 
 (d) 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫ isequa < o
x3dx

√1 + x2
√1 + x2(2 + x2) + C

1

3

√1 + x2(x2 − 1) + C
1

3
(1 + x2) + C

1

3

3
2

√1 + x2(x2 − 2) + C
1

3

√1 + x2(2 + x2) + C
1

3

√1 + x2(x2 − 1) + C
1

3

(1 + x2)
3 / 2

+ C
1

3

√1 + x2(x2 − 2) + C
1

3

49. If , then I equals

A. 

B. 

C. 

I = ∫
dx

(a2 − b2x2)3 / 2

+ C
x

√a2 − b2x2

+ C
x

a2√a2 − b2x2

+ C
ax

√a2 − b2x2

https://dl.doubtnut.com/l/_TT3b2ugpZjXS
https://dl.doubtnut.com/l/_ZZqYFwFDUZtw


D. none of these

Answer: B

Watch Video Solution

50. 
 



(d) none of these

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

∫ dx =
x4 − 1

x2√x4 + x2 + 1
√x2 + + 1 + C

1

x2
+ C

√x4 + x2 + 1

x2

+ C
√x4 + x2 + 1

x

√x2 + + 1 + C
1

x2

+ C
√x4 + x2 + 1

x2

+ C
√x4 + x2 + 1

x

https://dl.doubtnut.com/l/_ZZqYFwFDUZtw
https://dl.doubtnut.com/l/_bnlvlB7H5jqE


51. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫ dx =
√x2 + 1

x4

− + C
1

3

(x2 + 1)
3 / 2

x3

x3(x2 + 1)
− 1 / 2

+ C

+ C
√x2 + 1

x2

− + C
1

3

(x2 + 1)
3 / 2

x2

52.  is equal to

A. 

B. 

C. 

∫ dx
1 + 2x6

(1 − x6)3 / 2

+ c
2x

√1 + x6

+ c
1

√ − x41

x2

+ c
x

√ − x41

x2

https://dl.doubtnut.com/l/_oaViSHTJeyz7
https://dl.doubtnut.com/l/_szP6GoMWhI3K


D. 

Answer: B

Watch Video Solution

+ C
x2 + x

√1 − x6

53. The integral  dx is equal to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫
2x12 + 5x9

(x5 + x3 + 1)
3

+ c
x10

2(1 + x3 + x5)4

+ c
x2 + 2x

(x5 + x3 + 1)
4

+ c
x10

2(x5 + x3 + 1)
2

+ c
2x10

(x5 + x3 + 1)3

54. If  then In = ∫(lnx)ndx In + nIn− 1

https://dl.doubtnut.com/l/_szP6GoMWhI3K
https://dl.doubtnut.com/l/_IZVIujnMdXXX
https://dl.doubtnut.com/l/_rhn04oF1Kvvw


A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

+ C
(In x)n

x

x(In x)n− 1 + C

x(In x)n + C

55. Let 
 Then 
 is


e^xf(x)

A. 

B. 

C. 

D. 

Answer: C

∫ex{f(x) − f ′ (x)}dx = φ(x). ∫exf(x)dx φ(x) =

ϕ(x) = exf(x)

ϕ(x) − exf(x)

{ϕ(x) + exf(x)}
1

2

{ϕ(x) + exf' (x)}
1

2

https://dl.doubtnut.com/l/_rhn04oF1Kvvw
https://dl.doubtnut.com/l/_9lgiV40ELqAr


Watch Video Solution

56. 

A. 

B. 

C. 

D. none of these

Answer: D

Watch Video Solution

sin− 1( )
2x

1 + x2

x tan− 1 x − In∣∣sec(tan− 1 x)∣∣ + c

x tan− 1 x + In∣∣sec(tan− 1 x)∣∣ + c

x tan− 1 x − In∣∣cos(tan− 1 x)∣∣ + c

57. If

then

∫x
⎛
⎜
⎜
⎝

⎞
⎟
⎟
⎠
dx = a√1 + x2 ln(x + √1 + x2) + bx + c

ln(x + √1 + x2)

√1 + x2

https://dl.doubtnut.com/l/_9lgiV40ELqAr
https://dl.doubtnut.com/l/_z9EDPXACDOTF
https://dl.doubtnut.com/l/_ut8nqG1yAVQl


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

a = 1, b = − 1

a = 1, b = 1

a = − 1, b = 1

a = − 1, b = − 1

58. 
 then



(b) 
 
(d) none of these

A. 

B. 

C. 

D. none of these

Answer: D

If∫x log(1 + )dx = f(x)log(x + 1) + g(x)x2 + Ax + C,
1

x

f(x) = x21

2
g(x) = logx A = 1

f(x) = x21

2

g(x) = logx

A = 1

https://dl.doubtnut.com/l/_ut8nqG1yAVQl
https://dl.doubtnut.com/l/_xD06V7V2j2ZF


Watch Video Solution

59. If 





none of these

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

I = ∫e−x log(ex + 1)dx, thenIequal

a + (e−x + 1)log(ex + 1) + C a + (ex + 1)log(ex + 1) + C

a − (e−x + 1)log(ex + 1) + C

x + (e−x + 1)log(ex + 1) + C

x + (ex + 1)log(ex + 1) + C

x − (e−x + 1)log(ex + 1) + C

60.  then

A. 

If ∫xex cos xdx = aex(b(1 − x)sinx + cx cos x) + d,

a = 1, b = 1, c = − 1

https://dl.doubtnut.com/l/_xD06V7V2j2ZF
https://dl.doubtnut.com/l/_GU1vCh3QDkMV
https://dl.doubtnut.com/l/_ESZwXspffWfu


B. 

C. 

D. 

Answer: B

Watch Video Solution

a = , b = − 1, c = 1
1

2

a = 1, b = − 1, c = 1

a = , b = 1, c = − 1
1

2

61.  is equal to

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫x sinx sec3 xdx

[sec2 x − tanx] + c
1

2

[x sec2 x − tanx] + c
1

2

[x sec2 x + tanx] + c
1

2

[sec2 x + tanx] + c
1

2

https://dl.doubtnut.com/l/_ESZwXspffWfu
https://dl.doubtnut.com/l/_HZuk4t4bJMC7
https://dl.doubtnut.com/l/_zYCU7jTN1pNw


62.  is equal to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫etan − 1 x(1 + x + x2)d(cot − 1 x)

−etan − 1 x + c

etan − 1 x + c

−xetan − 1 x + c

xetan − 1 x + c

63.  is equal to

A. 

B. 

C. 

D. none of these

∫ex( + cot2(x + ))dx
2 tanx

1 + tanx

π

4

ex tan( − x) + c
π

4

ex tan(x − ) + c
π

4

ex tan( − x) + c
3π

4

https://dl.doubtnut.com/l/_zYCU7jTN1pNw
https://dl.doubtnut.com/l/_LeWi1h75QFQk


Answer: B

Watch Video Solution

64. 1/2x e^x^2e^x^4+c

1/2x^2e^x^4+c1/2e^x^2e^x^4+c 1/2x^2e^x^2e^x^4+c`

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫ex ^ 4(x + x3 + 2x5)ex ^ 2dxisequal → (b)

(d)

xex
2
ex

4
+ c

1

2

x2ex
4

+ c
1

2

ex
2
ex

4
+ c

1

2

x2ex
2
ex

4
+ c

1

2

https://dl.doubtnut.com/l/_LeWi1h75QFQk
https://dl.doubtnut.com/l/_CweAmwsOO5z6


65. The value of integral 


none of these

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

∫ex
⎛
⎜
⎜
⎝

+
⎞
⎟
⎟
⎠
dxisequa < o

1

√1 + x2

1 − 2x2

√(1 + x2)
5

ex
⎛
⎜
⎜
⎝

+
⎞
⎟
⎟
⎠

+ c
1

√1 + x2

1

√(1 + x2)
3

ex
⎛
⎜
⎜
⎝

−
⎞
⎟
⎟
⎠

+ c
1

√1 + x2

1

√(1 + x2)3

ex
⎛
⎜
⎜
⎝

+
⎞
⎟
⎟
⎠

+ c
1

√1 + x2

1

√(1 + x2)
5

ex
⎛
⎜
⎜
⎝

+
⎞
⎟
⎟
⎠

+ c
1

√1 + x2

x

√(1 + x2)
3

ex
⎛
⎜
⎜
⎝

−
⎞
⎟
⎟
⎠

+ c
1

√1 + x2

x

√(1 + x2)3

ex
⎛
⎜
⎜
⎝

+
⎞
⎟
⎟
⎠

+ c
1

√1 + x2

x

√(1 + x2)
5

https://dl.doubtnut.com/l/_tJcHkgmxpaWS
https://dl.doubtnut.com/l/_pG9eKChmZ06V


66.  is equal to

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

∫ex dx
(x2 + 1)

(x + 1)2

( )ex + c
x − 1

x + 1

ex( ) + c
x + 1

x − 1

ex(x + 1)(x − 1) + c

67.  is equal to

A. 

B. 

C. 

D. 

∫( )
2

exdx
x + 2

x + 4

ex( ) + c
x

x + 4

ex( ) + c
x + 2

x + 4

ex( ) + c
x − 2

x + 4

( ) + c
2xe2

x + 4

https://dl.doubtnut.com/l/_pG9eKChmZ06V
https://dl.doubtnut.com/l/_IjOCHzw6CfmO


Answer: A

Watch Video Solution

68.  is equal to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫etan x(sinx − secx)dx

etan x cos x + C

etan x sinx + C

−etan x cos x + C

etan x secx + C

69. 

A. 

∫ . dx
cos ec2x − 2005

cos2005 x

+ c
cot x

(cos x)2005

https://dl.doubtnut.com/l/_IjOCHzw6CfmO
https://dl.doubtnut.com/l/_I5k7IeWd4E0J
https://dl.doubtnut.com/l/_G8Pp12pxkokE


B. 

C. 

D. none of these

Answer: D

Watch Video Solution

+ c
tanx

(cos x)2005

+ c
−(tanx)

(cos x)2005

70.  dx is equal to

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫(1 + x − )ex+1

x

1
x

−xex
2 − + c

1
x

xex
2 − + c

1
x

(2x − 1)ex
2 − + c

1
x

(2x + 1)ex
2 − + c

1
x

https://dl.doubtnut.com/l/_G8Pp12pxkokE
https://dl.doubtnut.com/l/_y1wwGLY4MwgR
https://dl.doubtnut.com/l/_PZ5ciFCobdoy


71.  is equal to

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫esin − 1 x( + )dx
loge x

√1 − x2

1

x

loge x ⋅ esin − 1 x + c

+ c
esin − 1 x

x

−loge x ⋅ esin − 1 x + c

esin − 1 x(loge x + ) + c
1

x

72. 
 equal.



(b) 
 
(d) 

A. 

B. 

C. 

Ifxf(x) = 3f 2(x) + 2, then∫ dx
2x2 − 12xf(x) + f(x)

(6f(x) − x)(x2 − f(x))2

+ c
1

x2 − f(x)
+ c

1

x2 + f(x)
+ c

1

x − f(x)
+ c

1

x + f(x)

+ c
1

x2 − f(x)

+ c
1

x2 + f(x)

+ c
1

x − f(x)

https://dl.doubtnut.com/l/_PZ5ciFCobdoy
https://dl.doubtnut.com/l/_wpmtwHlw1g6M


D. 

Answer: A

Watch Video Solution

+ c
1

x + f(x)

73. The value of  is equal to

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

∫
(ax2 − b)dx

x√c2x2 − (ax2 + b)
2

sin− 1(ax + ) + k
1

c

b

x

c sin− 1(a + ) + k
b

x

sin− 1( ) + k
ax + b

x

c

https://dl.doubtnut.com/l/_wpmtwHlw1g6M
https://dl.doubtnut.com/l/_KRgomaMm2fyq


74. The value of  is equal to

A. 

B. 

C. 

D. none of these

Answer: D

Watch Video Solution

∫
dx

(1 + √x)(√x − x2)

+ c
1 + √x

(1 − x)
2

+ c
1 + √x

(1 + x)
2

+ c
1 − √x

(1 − x)2

75. 

A. 

B. 

C. 

D. none of these

∫  dx
2 sinx

3 + sin 2x

In
∣
∣
∣

∣
∣
∣

− tan− 1( ) + c
1

2

2 + sinx − cos x

2 − sinx + cos x

1

√2

sinx + cos x

√2

In
∣
∣
∣

∣
∣
∣

− tan− 1( ) + c
1

2

2 + sinx − cos x

2 − sinx + cos x

1

2√2

sinx + cos x

√2

In
∣
∣
∣

∣
∣
∣

− tan− 1( ) + c
1

4

2 + sinx − cos x

2 − sinx + cos x

1

√2

sinx + cos x

√2

https://dl.doubtnut.com/l/_fWxLtzyYvYEr
https://dl.doubtnut.com/l/_vg7exxUSIYN7


Answer: C

Watch Video Solution

76.  is equal to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

4∫ dx
√a6 + x8

x

√a6 + x8 + In
∣
∣
∣

∣
∣
∣

+ c
a3

2

√a6 + x8 + a3

√a6 + x8 − a3

a6In
∣
∣
∣

∣
∣
∣

+ c
√a6 + x8 − a3

√a6 + x8 + a3

√a6 + x8 + In
∣
∣
∣

∣
∣
∣

+ c
a3

2

√a6 + x8 − a3

√a6 + x8 + a3

a6In
∣
∣
∣

∣
∣
∣

+ c
√a6 + x8 + a3

√a6 + x8 − a3

77. 
 constant

(b) 
 
(d) 

IfIm ,n = ∫cosm x sinnxdx, then7I4 ,3 − 4I3 ,2isequa < o

−cos2 x + C −cos4 x cos 3x + C cos 7x − cos 4x + C

https://dl.doubtnut.com/l/_vg7exxUSIYN7
https://dl.doubtnut.com/l/_wObQMlCGOhNw
https://dl.doubtnut.com/l/_5LOssF9BFlct


Exercise (Multiple)

A. constant

B. 

C. 

D. 

Answer: C

Watch Video Solution

−cos2 x + C

−cos4 x cos 3x + C

cos 7x − cos 4x + C

1. 

A. 

B. 

C. 

D. 

∫ =
dx

√2ex − 1

2 sec− 1 √2ex + c

−2tan− 1 + c
1

√2ex − 1

2 sec− 1(√2ex) + c

2 tan− 1 √2ex − 1 + c

https://dl.doubtnut.com/l/_5LOssF9BFlct
https://dl.doubtnut.com/l/_n4HysjDaQ3Ub


Answer: A::B::D

Watch Video Solution

2.  then

A. 

B. 

C. 

D. 

Answer: B::D

Watch Video Solution

If ∫sinxd(secx) = f(x) − g(x) + c,

f(x) = secx

f(x) = tanx

g(x) = 2x

g(x) = x

3.  equals


(a) 
 (b) 
 (c) 


(d) 

∫√1 + cos ecxdx

2 sin− 1 √sinx + c √2 cos − 1
√cos x + c

c − 2 sin− 1(1 − 2 sinx) cos − 1(1 − 2 sinx) + c

https://dl.doubtnut.com/l/_n4HysjDaQ3Ub
https://dl.doubtnut.com/l/_QngysxpoWwre
https://dl.doubtnut.com/l/_ofhWfT8sXl1s


A. 

B. 

C. 

D. 

Answer: A::D

Watch Video Solution

2 sin− 1 √sinx + c

√2 cos − 1
√cos x + c

c − 2 sin− 1(1 − 2 sinx)

cos − 1(1 − 2 sinx) + c

4. If 
 then



(b) 
 
(d) none of these

A. 

B. 

C. 

D. none of these

Answer: A::C

l = ∫sec2 x cos ec4xdx = A cot3 x + B tanx + C cot x + D,

A = −
1

3
B = 2 C = − 2

A = −
1

3

B = 2

C = − 2

https://dl.doubtnut.com/l/_ofhWfT8sXl1s
https://dl.doubtnut.com/l/_dgYXG8JUJ2z9


Watch Video Solution

5. A curve 
 is passing

through origin. Then
 
 (b) 
 
 (d) 

A. 

B. 

C. 

D. 

Answer: A::C

View Text Solution

g(x) = ∫x27(1 + x + x2)
6
(6x2 + 5x + 4)dx

g(1) =
37

7
g(1) =

27

7
g( − 1) =

1

7

g( − 1) =
37

14

g(1) =
37

7

g(1) =
27

7

g( − 1) =
1

7

g( − 1) =
37

14

6. If  then  and  are

A. 2/5,5/2

∫ dx = a log( ) + c
(√x)

5

(√x)
7

+ x6

xk

1 + xk
a k

https://dl.doubtnut.com/l/_dgYXG8JUJ2z9
https://dl.doubtnut.com/l/_PxD5Yq3C03tA
https://dl.doubtnut.com/l/_AyFrVcWcbf9e


B. 1/5,2/5

C. 5/2,1/2

D. 2/5,1/2

Answer: B::D

Watch Video Solution

7. If = ,then

A. 

B. 

C. 

D. 

Answer: A::C

Watch Video Solution

I = ∫ dx
sinx + sin3 x

cos 2x
P cos x + Q log|f(x)| + R

P = 1/2, Q = −
3

4√2

P = 1/4, Q = −
1

√2

f(x) =
√2 cos x + 1

√2 cos x − 1

f(x) =
√2 cos x − 1

√2 cos x + 1

https://dl.doubtnut.com/l/_AyFrVcWcbf9e
https://dl.doubtnut.com/l/_qIOHtCZuXBo1
https://dl.doubtnut.com/l/_MvcLHAs4gHAI


8. If


(b) 
 
(d) 

A. 

B. 

C. 

D. 

Answer: A::D

Watch Video Solution

∫ 2xdx = AF (x − 1) + BF (x − 4) + CandF (x) = ∫ dx
ex− 1

(x2 − 5x + 4)

ex

x

A = −
2

3
b = ( )e34

3
A =

2

3
d ∈ R

A = − 2/3

B = (4/3)e3

A = 2/3

B = (8/3)e3

9. If 
 then the value of 

is______

A. 

B. 

∫x2 .
e

− 2x
dx = e− 2x(ax2 + bx + c) + d, ∣∣∣

∣∣∣
a

bc

a = −
1

2

b =
1

2

https://dl.doubtnut.com/l/_MvcLHAs4gHAI
https://dl.doubtnut.com/l/_8JsdPrnUEWih


C. 

D. 

Answer: A::C::D

Watch Video Solution

c = −
1

4

d ∈ R

10. 
 both 


are odd functions
 
is monotonic function


has no real roots


A. both  and  are odd functions

B.  is one-one function

C.  has no real roots

D. 

Answer: A::C::D

Watch Video Solution

If∫ dx = tan− 1 f(x) − tan− 1 g(x) + C, then
x4 + 1

x6 + 1

2

3

f(x)andg(x) f(x) f(x) = g(x)

∫ dx = − + + c
f(x)

g(x)

1

x

3

x3

f(x) g(x)

f(x)

f(x) = g(x)

∫ dx = + + c
f(x)

g(x)

1

x

3

x3

https://dl.doubtnut.com/l/_8JsdPrnUEWih
https://dl.doubtnut.com/l/_sxzlov4N74xg


11. If 
 
 is an even function



 is a bounded function
 the range of 
 is 
 
 has two

points of extrema

A.  is an even function

B.  is a bounded function

C. the range of  is (0, 1]

D.  has two points of extrema

Answer: A::B::C

Watch Video Solution

∫ exdx = exf(x) + c, then
x2 − x + 1

(x2 + 1)
3
2

f(x)

f(x) f(x) (0, 1) f(x)

f(x)

f(x)

f(x)

f(x)

12. 

A. 

B. 

If ∫ dx = A cos 4x + B,  then 
cos 4x + 1

cot x − tanx

A = −
1

8

B =
1

2

https://dl.doubtnut.com/l/_sxzlov4N74xg
https://dl.doubtnut.com/l/_QBy3zeSof7WO
https://dl.doubtnut.com/l/_N1EmRj4gtPxk


C.  has fundamental period 

D.  is an odd function

Answer: A::C

Watch Video Solution

f(x)
π

2

f(x)

13. If 

A. 

B. 

C. 

D. 

Answer: A::D

Watch Video Solution

sin− 1 x − cos − 1 x = , then
π

6

f(x) = sinx

f(x) = cos x

A =
π

4

A =
π

2

https://dl.doubtnut.com/l/_N1EmRj4gtPxk
https://dl.doubtnut.com/l/_ymhE9BXiOs1z


14. If 
 
 is an odd

function
 
 has range 
 
 has at least one real root
 
 is a

monotonic function.

A.  is an odd function

B.  has range R

C.  has at least one real root

D.  is a monotonic function

Answer: A::B::C::D

Watch Video Solution

f(x) = ∫ dxandf(0) = 0, then
x8 + 4

x4 − 2x2 + 2
f(x)

f(x) R f(x) f(x)

f(x)

f(x)

f(x)

f(x)

15. If  then

A.  is inverse trigonometric function for 

B.  is logarithmic function for 

C.  is quadratic function for 

∫ = f(g(x)) + c,
dx

x2 + ax + 1

f(x) |a| < 2

f(x) |a| > 2

g(x) |a| < 2

https://dl.doubtnut.com/l/_fgBfwIjrydVh
https://dl.doubtnut.com/l/_m5LjH7UzRNB1


D.  is rational function for 

Answer: A::B::D

Watch Video Solution

g(x) |a| > 2

16. If  then

A. 

B. 

C. 

D. 

Answer: A::D

Watch Video Solution

∫ dx = a loge|x| + b loge∣∣x
7 + 1∣∣ + c,

1 − x7

x(1 + x7)

a = 1

a = − 1

b =
2

7

b = −
2

7

17. If  then∫ dx = ax + b loge|2 sinx + 3 cos x| + c
3 sinx + 2 cos x

3 cos x + 2 sinx

https://dl.doubtnut.com/l/_m5LjH7UzRNB1
https://dl.doubtnut.com/l/_7OK8qsAs8JGp
https://dl.doubtnut.com/l/_KTabvZOFiz53


Exercise (Comprehension)

A. 

B. 

C. 

D. 

Answer: C::D

Watch Video Solution

a = −
12

13

b =
6

13

a =
12

13

b = −
15

39

1.  is a polynomial function passing through point (0, 1) and

which increases in the intervals  and decreases in the

intervals  

If  then the value of  is

A. -3

B. -6

y = f(x)

(1, 2) and (3, ∞)

(∞, 1) and (2, 3).

f(1) = − 8, f(2)

https://dl.doubtnut.com/l/_KTabvZOFiz53
https://dl.doubtnut.com/l/_JaxHhSoKCV2Q


C. -20

D. -7

Answer: D

Watch Video Solution

2.  is a polynomial function passing through point (0, 1) and

which increases in the intervals  and decreases in the

intervals  

If  then the range of  is

A. 

B. 

C. 

D. 

Answer: B

W t h Vid S l ti

y = f(x)

(1, 2) and (3, ∞)

(∞, 1) and (2, 3).

f(1) = − 8, f(x)

[3, ∞)

[ − 8, ∞)

[ − 7, ∞)

( − ∞, 6]

https://dl.doubtnut.com/l/_JaxHhSoKCV2Q
https://dl.doubtnut.com/l/_knfm8S0LyBta


Watch Video Solution

3.  is a polynomial function passing through point (0, 1) and

which increases in the intervals  and decreases in the

intervals  

If  has four real roots, then the range of values of leading

coefficient of polynomial is

A. [4/9, 1/2]

B. [4/9, 1]

C. [1/3, 1/2]

D. none of these

Answer: A

Watch Video Solution

y = f(x)

(1, 2) and (3, ∞)

(∞, 1) and (2, 3).

f(x) = 0

https://dl.doubtnut.com/l/_knfm8S0LyBta
https://dl.doubtnut.com/l/_DaobTHCeMpTo


4. If A is a square matrix and  is defined as 

where  and I being the identity matrix then 

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

ea

eA = 1 + + .......... . ∞ = [f(x), g(x) and g(x), f(x)],
A2

2!

A3

3!

1

2

A = [
x x

x x
]. ∫ dx =

g(x)

f(x)

log(ex + e−x) + c

log∣∣ex − e−x∣∣ + c

log∣∣e
2x − 1∣∣ + c

5. If A is a square matrix and  is defined as 

where  and I being the identity matrix then 

A. 

ea

eA = 1 + + .......... . ∞ = [f(x), g(x) and g(x), f(x)],
A2

2!

A3

3!

1

2

A = [
x x

x x
]. ∫ dx =

g(x)

f(x)

(sinx − cos x)
ex

2

https://dl.doubtnut.com/l/_MwP0indEBXj2
https://dl.doubtnut.com/l/_LUCJQfVcwsE2


B. 

C. 

D. none of these

Answer: B

Watch Video Solution

(2 sinx − cos x)
e2x

5

(sin 2x − cos 2x)
ex

5

6. If A is a square matrix and  is defined as 

where  and I being the identity matrix then 

A. 

B. 

C. 

D. none of these

Answer: C

ea

eA = 1 + + .......... . ∞ = [f(x), g(x) and g(x), f(x)],
A2

2!

A3

3!

1

2

A = [
x x

x x
]. ∫ dx =

g(x)

f(x)

− cosec− 1(ex) + c
1

2√ex − 1

− sec− 1(ex) + c
2

√ex − e−x

+ sec− 1(ex) + c
1

2√e2x − 1

https://dl.doubtnut.com/l/_LUCJQfVcwsE2
https://dl.doubtnut.com/l/_eQCsvihAdHhC


Watch Video Solution

7. Euler's substitution: 

Integrals of the form  are claculated with the

aid of one of the following three Euler substitutions: 

i.  


ii.  


iii. 

i.e., if  is real root of  


Which of the following functions does not appear in the primitive of

 if t is a function of x ?

A. 

B. 

C. 

D. none of these

Answer: D

∫R(x, √ax2 + bx + c)dx

√ax2 + bx + c = t ± x√a if a > 0

√ax2 + bx + c = tx ± x√c if c > 0

√ax2 + bx + c = (x − a)t if ax2 + bx + c = a(x − a)(x − b)

α ax2 + bx + c = 0

1

1 + √x2 + 2x + 2

loge|t + 1|

loge|t + 2|

1

t + 2

https://dl.doubtnut.com/l/_eQCsvihAdHhC
https://dl.doubtnut.com/l/_qBgqtVT3q6XQ


View Text Solution

8. Euler's substitution: 

Integrals of the form  are claculated with the

aid of one of the following three Euler substitutions: 

i.  


ii.  


iii. 

i.e., if  is real root of  


Which of the following functions does not apear in the primitive of

 if t is a function of x?

A. 

B. 

C. 

D. 

Answer: B

∫R(x, √ax2 + bx + c)dx

√ax2 + bx + c = t ± x√a if a > 0

√ax2 + bx + c = tx ± x√c if c > 0

√ax2 + bx + c = (x − a)t if ax2 + bx + c = a(x − a)(x − b)

α ax2 + bx + c = 0

dx

x + √x2 − x + 1

loge|t|

loge|t − 2|

loge|t − 1|

loge|t + 1|

https://dl.doubtnut.com/l/_qBgqtVT3q6XQ
https://dl.doubtnut.com/l/_Pl1hwJSm4TgX


View Text Solution

9. Euler's substitution: 

Integrals of the form  are claculated with the

aid of one of the following three Euler substitutions: 

i.  


ii.  


iii. 

i.e., if  is real root of  


 can be evaluated by substituting for x as

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

∫R(x, √ax2 + bx + c)dx

√ax2 + bx + c = t ± x√a if a > 0

√ax2 + bx + c = tx ± x√c if c > 0

√ax2 + bx + c = (x − a)t if ax2 + bx + c = a(x − a)(x − b)

α ax2 + bx + c = 0

∫
xdx

(√7x − 10 − x2)
3

x =
5 + 2t2

t2 + 1

x =
5 − t2

t2 + 2

x =
2t2 − 5

3t2 − 1

https://dl.doubtnut.com/l/_Pl1hwJSm4TgX
https://dl.doubtnut.com/l/_iY8rYAT3XbmY


10. Let  and  then  is

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

f(x) = ∫ dx
x2

(1 + x2)(1 + √1 + x2)
f(0) = 0 f(1)

log(1 + √2)

log(1 + √2) −
π

4

log(1 + √2) +
π

4

11. Let  


The value of  is

A. an increasing function

B. a decreasing function

f(x) = ∫ and f(0) = 0.
x2dx

(1 + x2)(1 + √1 + x2)

f(1)

https://dl.doubtnut.com/l/_iY8rYAT3XbmY
https://dl.doubtnut.com/l/_2P7DdW2HURkP
https://dl.doubtnut.com/l/_VJ4owEaD8StQ


C. a non-monotonic function

D. can't say anything

Answer: A

Watch Video Solution

12. If  

 then 


The value of  is

A. 1

B. 2

C. 3

D. 4

Answer: C

Watch Video Solution

∫ dx
x(x − 1)

(x2 + 1)(x + 1)√x3 + x2 + x

= loge
∣
∣

∣
∣

∣
∣

∣
∣

− tan− 1 √f(x) + C,
1

2

√f(x) − 1

√f(x) + 1

lim
x→ ∞

tan− 1 √f(x)

https://dl.doubtnut.com/l/_VJ4owEaD8StQ
https://dl.doubtnut.com/l/_xrEDsptCKh6Y


13. If  

 then 


The value of  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫ dx
x(x − 1)

(x2 + 1)(x + 1)√x3 + x2 + x

= loge
∣
∣

∣
∣

∣
∣

∣
∣

− tan− 1 √f(x) + C,
1

2

√f(x) − 1

√f(x) + 1

lim
x→ ∞

tan− 1 √f(x)

π/2

π/4

π

2π

14. If a function 'f' satisfies the relation

 and .

Then find .

f(x)f ' ' (x) − f(x)f ′ (x) − f ′ (x)2 = 0 ∀x ∈ R f(0) = 1 = f ′ (0)

f(x)

https://dl.doubtnut.com/l/_xrEDsptCKh6Y
https://dl.doubtnut.com/l/_klFyDfZqDBJk
https://dl.doubtnut.com/l/_sLBawAqfmcoZ


A. 

B. 

C. 

D. e

Answer: B

Watch Video Solution

1

√e

1

e

√e

15. If a function 'f' satisfies the relation

 and .

Then find .

A. 0

B. 1

C. 2

D. infinite

f(x)f ' ' (x) − f(x)f ′ (x) − f ′ (x)2 = 0 ∀x ∈ R f(0) = 1 = f ′ (0)

f(x)

https://dl.doubtnut.com/l/_sLBawAqfmcoZ
https://dl.doubtnut.com/l/_sRoTYHqffkTS


Answer: B

Watch Video Solution

16. Consider two differentiable functions  satisfying 

 is equal to

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

f(x), g(x)

6∫f(x)g(x)dx = x6 + 3x4 + 3x2 + c and 2∫ = x2 + c,  where f
g(x)dx

f(x)

∫(g(x) − f(x))dx

− + x + c
x4

4

x2

2

+ − + x + c
x4

4

x2

2

x3

3

− + − x + c
x4

4

x3

3

x2

2

+ + c
x4

4

x3

3

https://dl.doubtnut.com/l/_sRoTYHqffkTS
https://dl.doubtnut.com/l/_a0x3bmf2eGav


Exercise (Matrix)

17. Consider two differentiable functions  satisfying 

A. e

B. 2

C. 1

D. 0

Answer: D

Watch Video Solution

f(x), g(x)

6∫f(x)g(x)dx = x6 + 3x4 + 3x2 + c and 2∫ = x2 + c,  where f
g(x)dx

f(x)

lim
x→ 0

=
log(f(x))

g(x)

1. The integral  is equal to

Watch Video Solution

∫( )
dx

5 + 4 cos x

https://dl.doubtnut.com/l/_1eeoyOxrVWtx
https://dl.doubtnut.com/l/_otByEGe9dg8I


2. If the sides  of 
 are in 
 prove that

Watch Video Solution

a, b and c ABC A
.
P .,

a cos2( ) + c cos2( ) =
C

2

A

2
3b
2

3. Match the following lists: 

Watch Video Solution

https://dl.doubtnut.com/l/_otByEGe9dg8I
https://dl.doubtnut.com/l/_8eL5kxvwfXNo
https://dl.doubtnut.com/l/_C600vXOeuW7l
https://dl.doubtnut.com/l/_3uwrmD1Q0nfE


4. Consider 

 


 


Now, match the following lists and then choose the correct code. 

 


Codes: 

Watch Video Solution

∫ dx
x3 + 3x2 + 2x + 1

√x2 + x + 1

= (ax2 + bx + c)√x2 + x + 1 + λ∫
dx

√x2 + x + 1

a b c d

(1) q p s r

(2) s p q r

(3) r q p s

(4) q s p r

https://dl.doubtnut.com/l/_3uwrmD1Q0nfE


Exercise (Numerical)

1. Let 
 Then

the value of 
is____

Watch Video Solution

f(x) = ∫xsin x(1 + x cos x
.

lnx + sinx)dxandf( ) = .
π

2

π2

4

|cos(f(π))|

2. Let 
 then the value of 

is __________

Watch Video Solution

g(x) = ∫ dxandg(0) = 0.
1 + 2 cos x

(cos x + 2)2
8g( )

π

2

3. 

Watch Video Solution

Let k(x) = ∫  and k( − 1) = .  Then the value of k
(x2 + 1)dx

3√x3 + 3x + 6

1
3√2

https://dl.doubtnut.com/l/_Y51lMm3wgbLZ
https://dl.doubtnut.com/l/_vb601tsIygla
https://dl.doubtnut.com/l/_e35iEl7zwop6


4. If the value ,then

find k.

Watch Video Solution

∫ dx = ln∣∣sink x + cosk x∣∣ + c
1 − (cot x)

2008

tanx + (cot x)
2009

1

k

5. If 
then the value of 
is___

Watch Video Solution

f(x) = ∫ dxandf(0) = 0,
3x2 + 1

(x2 − 1)
3

∣
∣
∣

∣
∣
∣

2

f(2)

6. 

Watch Video Solution

If f(x) = √x, g(x) = ex − 1,  and ∫fog(x)dx = Afog(x) + B tan− 1(f

7. 

Watch Video Solution

If ∫ dx = A  In|cos x + sinx − 2| + Bx + C,  then th
2 cos x − sinx + λ

cos x + sinx − 2

https://dl.doubtnut.com/l/_wxwgXOH6eigc
https://dl.doubtnut.com/l/_InpUgbJeKI2q
https://dl.doubtnut.com/l/_GWH6HgKyMPeQ
https://dl.doubtnut.com/l/_jjlCe3vLkNNL
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Watch Video Solution

8. 

Watch Video Solution

If ∫ex
3 +x2 − 1(3x4 + 2x3 + 2x)dx = f(x) + C,  then the value of f(1) ×

9. 

Watch Video Solution

If f(x) = ∫  and f(0) = 12 loge 2,  then the value of f( − 1)  
dx

x1 / 3 + 2

10. "If " I=(dx)/(root(3)(sin^(11)xcosx))=-A(tanx)^(-(8)/(3))+B(tanx)^(-

(2)/(3))+c," then the value of " 4A+B " is"-.`

Watch Video Solution

https://dl.doubtnut.com/l/_jjlCe3vLkNNL
https://dl.doubtnut.com/l/_x2pstC4rhSmp
https://dl.doubtnut.com/l/_44tfo9pgxbNk
https://dl.doubtnut.com/l/_roASRRjJ2RhW
https://dl.doubtnut.com/l/_Wzj9gXYWa0NS


1. 

A. -1

B. -2

C. 1

D. 2

Answer: D

Watch Video Solution

If ∫ dx = x + a  In(sinx − 2 cos x) + k  then a =
5 tanx

tanx − 2

2. If  dx is equal to

A. 

B. 

C. 

D. 

∫f(x)dx = ψ(x), then∫x5f(x)

[x3Ψ(x3) − ∫x2Ψ(x3)dx] + c
1

3

x3Ψ(x3) − 3∫x3Ψ(x3)dx + c
1

3

x3Ψ(x3) − ∫x2Ψ(x3)dx + c
1

3

[x3Ψ(x3) − ∫x3Ψ(x3)dx] + c
1

3

https://dl.doubtnut.com/l/_Wzj9gXYWa0NS
https://dl.doubtnut.com/l/_Vzd2T92o7Jby


Answer: C

Watch Video Solution

3.  dx is equal to

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫(1 + x − )ex+1

x

1
x

(x − 1)ex+ + c
1
x

xex+ + c
1
x

(x + 1)ex+ + c
1
x

−xex+ + c
1
x

4. Evaluate 

A. 

∫ dx
1

x2(x4 + 1)3 / 4

( )
1 / 4

+ c
x4 + 1

x4

https://dl.doubtnut.com/l/_Vzd2T92o7Jby
https://dl.doubtnut.com/l/_GuZJnK5sMDg6
https://dl.doubtnut.com/l/_RV7fMmy33up0


B. 

C. 

D. 

Answer: D

Watch Video Solution

(x4 + 1)
1 / 4

+ c

−(x4 + 1)
1 / 4

+ c

−( )
1 / 4

+ c
x4 + 1

x4

5. The integral  dx is equal to

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫
2x12 + 5x9

(x5 + x3 + 1)
3

+ C
x10

2(x5 + x3 + 1)2

+ C
x5

2(x5 + x3 + 1)2

−x10

2(x5 + x3 + 1)2

+ C
−x5

(x5 + x3 + 1)
2

https://dl.doubtnut.com/l/_RV7fMmy33up0
https://dl.doubtnut.com/l/_Kj3xXPiNy68q


6. Let , where C

is a constant of integration, then the ordered pair (a, b) is equal to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

In = ∫tann x dx(n > 1). If I4 + I6 = a tan5 x + bx5 + C

( − , 0)
1

5

( − , 1)
1

5

( , 0)
1

5

( , − 1)
1

5

7. The integral  is

equal to (where C is a constant of integration)

A. 

B. 

∫ dx
sin2 x cos2 x

(sin5 x + cos3 x sin2 x + sin3 x cos2 x + cos5 x)
2

+ C
−1

1 + cot3 x

+ C
1

3(1 + tan3 x)

https://dl.doubtnut.com/l/_ZLDgZ5gDIQSI
https://dl.doubtnut.com/l/_wI2apcWNSEl9
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C. 

D. 

Answer: C

Watch Video Solution

+ C
−1

3(1 + tan3 x)

+ C
1

1 + cot3 x

1.  equal to (for some arbitrary constant K)

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫ dx
sec2 x

(secx + tanx)
9 / 2

− { − (secx + tanx)
2} + K

1

(secx + tanx)11 / 2

1

11

1

7

{ − (secx + tanx)2} + K
1

(secx + tanx)1 / 11

1

11

1

7

− { + (secx + tanx)2} + K
1

(secx + tanx)11 / 2

1

11

1

7

{ + (secx + tanx)2} + K
1

(secx + tanx)11 / 2

1

11

1

7

https://dl.doubtnut.com/l/_wI2apcWNSEl9
https://dl.doubtnut.com/l/_WRIlLd7aArc0


Single Correct Answer Type

1. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫ dx  is equal to 
cos 5x + cos 4x

1 − 2 cos 3x

−( + cos x) + C
sin 2x

2

−( + cos x) + C
sin 2x

2

−( + cos x) + C
cos 2x

2

−( + sinx) + C
sin 2x

2

2.  di equal to

A. 

B. 

∫ dx
secx. cosecx

2 cot x − secxcosec x

ln|sec 2x + tan 2x| + C
1

2

ln|secx + cosec x| + C

https://dl.doubtnut.com/l/_WRIlLd7aArc0
https://dl.doubtnut.com/l/_KRjxQhZm773J
https://dl.doubtnut.com/l/_Fe6KRC1wzG3L


C. 

D. 

Answer: A

Watch Video Solution

ln|secx + tanx| + C

ln|secx +  cosec x| + C
1

2

3. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫ ln( )dx =
1

x

x

ex

ex − lnx + C
1

2

lnx − ex + C
1

2

(lnx)2 − x + C
1

2

+ C
ex

2x

https://dl.doubtnut.com/l/_Fe6KRC1wzG3L
https://dl.doubtnut.com/l/_KULvC25dfUAT


4.  (A)  (B)  (C) 

(D) 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫ dx =
(cos x)

n− 1

(sinx)
n+ 1

− + c
cotn x
n

− + c
cotn x
n + 1

+ c
cotn x
n

+ c
cotn x
n + 1

cotn x
n

−cotn− 1 x

n − 1

−cotn x
n

cotn− 1 x

n − 1

5. If  where C is a

constant of integration, then the value of k is equal to

A. 3

B. 6

∫x26. (x − 1)17. (5x − 3)dx = + C
x27. (x − 1)

18

k

https://dl.doubtnut.com/l/_TFnsRhIPeqVm
https://dl.doubtnut.com/l/_pXkaS9pThIZs


C. 9

D. 12

Answer: C

Watch Video Solution

6. If  then A-

B is

A. 

B. 

C. 

D. 0

Answer: D

Watch Video Solution

∫ dx = A√1 − 9x2 + B(cos − 1 3x)
3

+ C,
x + (cos − 1 3x)

2

√1 − 9x2

2

9

−
1

9

1

9

https://dl.doubtnut.com/l/_pXkaS9pThIZs
https://dl.doubtnut.com/l/_VDNoVESQ7KD0
https://dl.doubtnut.com/l/_JFGfk0heMikm


7. If  where f(x) is a polynomial of

degree n in tan x, then the value of n is

A. 6

B. 7

C. 8

D. none of these

Answer: C

Watch Video Solution

∫(tan9 x)dx = f(x) + log|cos x|,

8.  where C is the

constant of integration and f(x) is positive. Then  has the

value equal to

A. 

B. 

∫ dx = loge(f(x)) + g(x) + C
cos x − sinx + 1 − x

ex + sinx + x

f(x) + g(x)

ex + sinx + 2x

ex + sinx

https://dl.doubtnut.com/l/_JFGfk0heMikm
https://dl.doubtnut.com/l/_pUHgGB9X8teu


C. 

D. 

Answer: B

Watch Video Solution

ex − sinx

ex + sinx + x

9.  equals

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫ dx
x + x + x

2
3

1
6

x(1 + x )
1
3

+ 6 tan− 1(x ) + C
3x

2
3

4

1
6

+ 6 tan− 1(x ) + C
3x

2
3

2

1
6

+ 6 tan− 1(x ) + C
3x

2
3

10

1
6

+ 6 tan− 1(x ) + C
3x

2
3

5

1
6

https://dl.doubtnut.com/l/_pUHgGB9X8teu
https://dl.doubtnut.com/l/_DPw1KXNOp3oS
https://dl.doubtnut.com/l/_bi1P8kK565kA


10.  is equal to

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫ dx ∀x > 0
ex(x − 2)

x(x2 + ex)

ln(1 + ) + c
ex

x2

ln( − + ) + c
1

2
ex

x2

ln(2 + ) + c
ex

x2

ln(x + ) + c
ex

x2

11. If . Then, the value of 

 is equal to:

A. 

B. 

C. 

D. 

x2 ≠ nπ − 1, n ∈ N

∫x√ dx
2 sin(x2 + 1) − sin 2(x2 + 1)

2 sin(x2 + 1) + sin 2(x2 + 1)

ln
∣
∣
∣

sec(x2 + 1)
∣
∣
∣

+ C
1

2

ln
∣
∣
∣
sec( )

∣
∣
∣

+ C
x2 + 1

2

ln∣∣sec(x2 + 1)∣∣ + C
1

2

ln
∣
∣
∣

∣
∣
∣

+ C
1

2

2

sec(x2 + 1)

https://dl.doubtnut.com/l/_bi1P8kK565kA
https://dl.doubtnut.com/l/_Klg55Tn8rARB


Answer: B

Watch Video Solution

12. The value of  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫ dx
cosec x

cos2(1 + log tan. )x
2

−tan(1 + log tan. ) + c
x

2

sec2(1 + log tan. ) + c
x

2

tan(1 + log tan. ) + c
x

2

sin2(1 + log tan. ) + c
x

2

13. 

A. 

∫ =
dx

x√x6 − 16

sec. + c
x3

4

https://dl.doubtnut.com/l/_Klg55Tn8rARB
https://dl.doubtnut.com/l/_31zS2V60VJSr
https://dl.doubtnut.com/l/_QOFgmVBW8Vrp


B. 

C. 

D. none of these

Answer: B

Watch Video Solution

sec. + c
1

12
x3

4

sec. + c
1

3
x3

4

14. 

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

∫ =
dx

cos(2x)cos(4x)

log
∣
∣
∣

∣
∣
∣

− (log|sec 2x − tan 2x|) + C
1

2√2

1 + √2 sin 2x

1 − √2 sin 2x

1

2

log
∣
∣
∣

∣
∣
∣

− (log|sec 2x − tan 2x|) + C
1

2√2

1 − √2 sin 2x

1 + √2 sin 2x

1

2

log
∣
∣
∣

∣
∣
∣

− (log|sec 2x − tan 2x|) + C
1

√2

1 + √2 sin 2x

1 − √2 sin 2x

1

2

https://dl.doubtnut.com/l/_QOFgmVBW8Vrp
https://dl.doubtnut.com/l/_Q75ZhL841bc7
https://dl.doubtnut.com/l/_YzyGFtRWSSmS


15.  is equal to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫x.2ln (x2 + 1 )dx

+ C
2ln (x2 + 1 )

2(x2 + 1)

(x2 + 1)
2ln (x2 + 1 )

ln 2 + 1

+ C
(x2 + 1)

ln 2 + 1

2(ln 2 + 1)

+ C
(x2 + 1)

ln 2

2(ln 2 + 1)

16. If  then

A. 

B. 

C. 

D. 

∫ dx = Af(x) + log[|sinx − cos x|] + c,
sinx

sin(x − )π
4

1

√2

A = , f(x) = sinx
1

√2

A = √2, f(x) = cos x

A = √2, f(x) = x

A = , f(x) = x
1

√2

https://dl.doubtnut.com/l/_YzyGFtRWSSmS
https://dl.doubtnut.com/l/_CCI5eQDID4Hf


Answer: D

Watch Video Solution

17.  equals

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫(√ − √ sinx)dx
cos x
x

x

cos x

−√x cos x + C

√x sinx + C

2√x cos x + C

C − 2√x cos x

18. 

A. 

∫ dx
(2x + 1)

(x2 + 4x + 1)3 / 2

+ C
x3

(x2 + 4x + 1)1 / 2

https://dl.doubtnut.com/l/_CCI5eQDID4Hf
https://dl.doubtnut.com/l/_ZpeXf8fa8ADa
https://dl.doubtnut.com/l/_8FBjbILvEfz9


B. 

C. 

D. 

Answer: B

Watch Video Solution

+ C
x

(x2 + 4x + 1)1 / 2

+ C
x2

(x2 + 4x + 1)1 / 2

+ C
1

(x2 + 4x + 1)
1 / 2

19. If  where f(x) is of the

form of , then the value of f(1) is

A. 4

B. 5

C. 6

D. none

Answer: B

Watch Video Solution

∫ = C −
(2x + 3)dx

x(x + 1)(x + 2)(x + 3) + 1

1

f(x)

ax2 + bx + c

https://dl.doubtnut.com/l/_8FBjbILvEfz9
https://dl.doubtnut.com/l/_ZlIQiCVsELz8


20. The integral  equals

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫√cot xe√sin x
√cos xdx

+ C
√tanxe√sin x

√cos x

2e√sin x + C

− e√sin x + C
1

2

+ C
√cot xe√sin x

2√cos x

21.  equals

A. 

B. 

C. 

∫
dx

x√x6 + 1

sec− 1 x3 + C

log( ) + C
1

6

√x6 + 1 − 1

√x6 + 1 + 1

log( ) + C
1

3

√x3 + 1 − 1

√x3 + 1 + 1

https://dl.doubtnut.com/l/_ZlIQiCVsELz8
https://dl.doubtnut.com/l/_0rg3w9MdEa10
https://dl.doubtnut.com/l/_OuIVtdPAGbS0


D. 

Answer: B

View Text Solution

log( ) + C
1

3

√x3 + 1 + 1

√x3 + 1 − 1

22.  where 

 is

A. 1

B. 2

C. 

D. 

Answer: A

Watch Video Solution

∫ = 2
⎡

⎣
−

⎤

⎦
+ c

dx

(1 + √x)
2010

1

α(1 + √x)
α

1

(β(1 + √x))
β

α, β > 0  then α − β

−1

−2

https://dl.doubtnut.com/l/_OuIVtdPAGbS0
https://dl.doubtnut.com/l/_CXpwaBedRIiT


23. , where A, B are contants.

Then the range of Af(x) is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫ = A tan− 1(f(x)) + B
sin( − x)dxπ

4

2 + sin 2x

[ − 1, 1]

[ − √2, √2]

[0, 1]

[ − 1, 0]

24. If

then the value of 3AB is

A. 

√x + √x2 + xdx = A{x + √x2 + 2}
3 / 2

+ + c.
B

√x + √x2 + 2

−1

https://dl.doubtnut.com/l/_JkP1cw6IG4tL
https://dl.doubtnut.com/l/_7ApPCGEvQMhQ


B. 

C. 1

D. 2

Answer: B

Watch Video Solution

−2

25.  is equal to

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫ dx
x2 + 1

x√x2 + 2x − 1√1 − x2 − x

2 sin− 1 √x − + 2 + c
1

x

2 cos − 1 √x − + 2 + c
1

x

sin− 1 √x − + 2 + c
1

x

cos − 1 √x − + 2 + c
1

x

https://dl.doubtnut.com/l/_7ApPCGEvQMhQ
https://dl.doubtnut.com/l/_WxkiKrdk9OOw
https://dl.doubtnut.com/l/_mwlbE7x4JfI5


26.  has the value equal to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫
dx

x2√16 − x2

C − tan− 1 sec( )
1

4
x

4

tan− 1 sec( ) + C
1

4
x

4

C −
√16 − x2

16x

+ C
√16 − x2

16x

27. If

then the value of K is

A. a) 2

B. b) 3

∫ = K tan− 1(√tanx + 1 + cot x) + C,
3 tan(x − )π

4

cos2 x√tan3 x + tan2 x + tanx

https://dl.doubtnut.com/l/_mwlbE7x4JfI5
https://dl.doubtnut.com/l/_y5qv0sMcq9sZ


C. c) 6

D. d) 8

Answer: C

Watch Video Solution

28.  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫ dx
√1 − x2 − x

√1 − x2(1 + x√1 − x2)

2 tan− 1(x + √1 − x2) + c

tan− 1(x + √1 − x2) + c

2 tan− 1(x − √1 − x2) + c

2 cot − 1(x + √1 − x2) + c

https://dl.doubtnut.com/l/_y5qv0sMcq9sZ
https://dl.doubtnut.com/l/_Bm6eq6w7NlZI


29. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫ dx =
3x2 + 2x

x6 + 2x5 + x4 + 2x3 + 2x2 + 5

tan− 1( ) + c
1

4

x3 + x2 + 1

2

tan− 1( ) + c
1

2

x3 + x2 + 1

2

sin− 1( ) + c
x3 + x2 + 1

2

tan− 1( ) + c
1

2

x3 + x2

2

30.  is equal to

A. 

B. 

C. 

D. 

∫ dx
1

(1 + √x)√x − x2

2
⎛

⎝
√ −

⎞

⎠
+ c

x

√1 − x

1

√1 − x

2
⎛

⎝
√ −

⎞

⎠
+ c

x

√1 − x

1

1 − x

2(√ − ) + c
x

1 − x

1

√1 − x

2(√ − ) + c
x

1 − x

1

1 − x

https://dl.doubtnut.com/l/_MtApIJUuLBXF
https://dl.doubtnut.com/l/_rcXDksO7QyqV


Answer: C

Watch Video Solution

31. If , and f(0) = 0, then the value

of f(1) is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

f(x) = ∫ dx, (x ≥ 0)
5x8 + 7x6

(x2 + 1 + 2x7)
2

−1/2

1/4

1/2

−1/4

32. If , then I equalsI = ∫
dx

x4√a2 + x2

https://dl.doubtnut.com/l/_rcXDksO7QyqV
https://dl.doubtnut.com/l/_dCQtfjpLYUZ5
https://dl.doubtnut.com/l/_YtHe7dTgraer


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

[ √a2 + x2 − √a2 + x2] + c
1

a4

1

x

1

3x2

[ √a2 + x2 − (a2 + x2)
3 / 2

] + c
1

a4

1

x

1

2√x

[ √a2 + x2 − (a2 + x2)
3 / 2

] + c
1

a4

1

x

1

3x3

[ √a2 + x2 − √a2 + x2] + c
1

a4

1

x

1

3x3

33. If , then f(x) is

equal to

A. 

B. 

C. 

D. None

Answer: B

I = ∫x27(6x2 + 5x + 4)(x2 + x + 1)
6
dx = f(x) + C

+ C
x4(1 + x + x2)

7

7

+ C
x28(1 + x + x2)

7

7

+ C
x28(1 + x + x2)

7

28

https://dl.doubtnut.com/l/_YtHe7dTgraer
https://dl.doubtnut.com/l/_6GntDUb6IIdF


Watch Video Solution

34.  equals

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫ dx
x2(1 − logx)

(logx)
4

− x4

ln. − ln(ln2
x − x2) + C

1
2

x

lnx

1

4

ln( ) − tan− 1( ) + C
1

4

lnx − x

lnx + x

1
2

lnx

x

ln( ) + tan− 1( ) + C
1

4

lnx − x

lnx + x

1
2

lnx

x

(ln( ) + tan− 1( )) + C
1

4

lnx − x

lnx + x

lnx

x

35. If  

 then 


The value of  is

∫ dx
x(x − 1)

(x2 + 1)(x + 1)√x3 + x2 + x

= loge
∣
∣

∣
∣

∣
∣

∣
∣

− tan− 1 √f(x) + C,
1

2

√f(x) − 1

√f(x) + 1

lim
x→ ∞

tan− 1 √f(x)

https://dl.doubtnut.com/l/_6GntDUb6IIdF
https://dl.doubtnut.com/l/_7nDnmIeGX8Tf
https://dl.doubtnut.com/l/_dn0BIKRqR5bZ


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

cos − 1 √1 +
1

x

tan− 1 √x + + 1
1

x

cot − 1 √x +
1

x

sin− 1 √x + + 1
1

x

36.  equals

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫
dx

3

x3(xn + 1)

ln( )
3

n

xn

xn + 1

ln( )
1

n

xn

xn + 1

ln( )
3

n

xn + 1
xn

3n ln( )
xn+ 1

xn

https://dl.doubtnut.com/l/_dn0BIKRqR5bZ
https://dl.doubtnut.com/l/_VdFFAuAWryFC


37.  is equal to

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
(x + 1)2

x

x(x2 + 1)

loge x + c

loge x + 2 tan− 1 x + c

loge. + c
1

x2 + 1

loge{x(x
2 + 1)} + c

38.  is equal to

A. 

B. 

C. 

∫ dx
x3 − x

1 + x6

log. + C
1

6
x4 − x2 + 1

x(x2 + 1)

tan− 1. + C
1

6

(x2 + 1)
2

2

log. + C
x4 − x2 + 1

(1 + x2)
2

https://dl.doubtnut.com/l/_VdFFAuAWryFC
https://dl.doubtnut.com/l/_eEiGAXdPJsqE
https://dl.doubtnut.com/l/_vUOCbqhAXBpz


D. 

Answer: A

Watch Video Solution

tan− 1. + C
(x2 + 1)

2

2

39.  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫ dx
x3 − 1

(x4 + 1)(x + 1)

ln(1 + x4) + ln(1 + x3) + c
1

4

1

3

sinx ∣ − sinx + C

ln(1 + x4) − ln(1 + x) + c
1

4

ln(1 + x4) + ln(1 + x) + c
1

4

40. The value of  is equal to∫ dx
cos3 x

sin2 x + sinx

https://dl.doubtnut.com/l/_vUOCbqhAXBpz
https://dl.doubtnut.com/l/_VNsoplIb6Qlu
https://dl.doubtnut.com/l/_oQlXYoBQVKvM


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

loge|sinx| + sinx + C

loge|sinx| − sinx + C

−loge|sinx| − sinx + C

−loge|sinx| + sinx + C

41.  dx is equal to:

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

∫
x3 − 1

x3 + x

x − loge|x| + loge(x
2 + 1) − tan− 1 x + C

x − loge|x| + loge(x
2 + 1) − tan− 1 x + C

1

2

x + loge|x| + loge(x
2 + 1) + tan− 1 x + C

1

2

https://dl.doubtnut.com/l/_oQlXYoBQVKvM
https://dl.doubtnut.com/l/_gWB09HWzeT39


42. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫ dx =
(2 + secx)secx

(1 + 2 secx)
2

+ C
1

2 cosec x+cot x

2 cosec x+cot x + C

+ C
1

2 cosec x−cot x

2 cosec x−cot x + C

43. If  is differentiable, then 

equal to

A. 

B. 

f(x)dx = g(x) and f − 1(x) ∫f − 1(x)dx

g− 1(x) + C

xf − 1 + C

https://dl.doubtnut.com/l/_gWB09HWzeT39
https://dl.doubtnut.com/l/_GahwViCTvfGa
https://dl.doubtnut.com/l/_zudDiYoA72FO


C. 

D. 

Answer: C

Watch Video Solution

xf − 1(x) − g(f − 1(x)) + C

f − 1(x) + C

44. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫ (2 ln cosec x + sin 2x)dx
ecot x

sin2 x

2ecot x ln|sinx| + c

2etan x ln|sinx| + c

2ecot x ln|cos x| + c

2etan x ln|cos x| + c

https://dl.doubtnut.com/l/_zudDiYoA72FO
https://dl.doubtnut.com/l/_8erBQu8Uvd0N


45. , then f(x) is equal to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫ dx = + C
1 − 7 cos2 x

sin7 x cos2 x

f(x)

(sinx)7

sinx

cos x

tanx

cot x

46. If  then the value

of f(1) is

A. 

B. 

C. 

f(x) = ∫ex(tan− 1 x + )dx, f(0) = 0
2x

(1 + x2)
2

e( − ) + 1
π

4

1

2

e( + ) + 1
π

4

1

2

e( − ) + 1
π

2

1

4

https://dl.doubtnut.com/l/_BVD5U4ipNO7H
https://dl.doubtnut.com/l/_A6yRKetiTuRt


D. 

Answer: A

Watch Video Solution

e− 1( − ) + 1
π

4

1

2

47.  is equal to

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫ dx
ex(x − 1)(x − lnx)

x2

ex( ) + c
x − lnx

x

ex( ) + c
x − lnx + 1

x

ex( ) + c
x − lnx

x2

ex( ) + c
x − lnx − 1

x

48. Evaluate .∫sin(101x). sin99 xdx

https://dl.doubtnut.com/l/_A6yRKetiTuRt
https://dl.doubtnut.com/l/_vY51a9a8MCPm
https://dl.doubtnut.com/l/_GmGMkGXOXJFg


Subjective Type

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

+ C
sin(100x)(sinx)

100

100

+ C
cos(100x)(sinx)100

100

+ C
cos(100x)(cos x)

100

100

+ C
cos(100x)(cos x)100

100

1. Evaluate: 

Watch Video Solution

∫  dx
(x − 1)2

x4 + x2 + 1

2. Evaluate : 

Watch Video Solution

∫ dx
x2 − 4

x4 + 9x2 + 16

https://dl.doubtnut.com/l/_GmGMkGXOXJFg
https://dl.doubtnut.com/l/_UrD9TA0HqT7r
https://dl.doubtnut.com/l/_d209XJ78NWO4


3. Evaluate: 

Watch Video Solution

∫cos 2x  ln (1 + tanx)dx

4. Evaluate : 

Watch Video Solution

∫sin 4x. etan2 xdx

5. Evaluate 

Watch Video Solution

∫ dx
loge(1 + sin2 x)

cos2 x

6. Evaluate : 

Watch Video Solution

∫ dx
x loge x

(x2 − 1)3 / 2

https://dl.doubtnut.com/l/_d209XJ78NWO4
https://dl.doubtnut.com/l/_4wFq0nqBICsJ
https://dl.doubtnut.com/l/_06Qyz3qfNiPC
https://dl.doubtnut.com/l/_4dut4naH66f6
https://dl.doubtnut.com/l/_666cCQd8MjuR


Comprehension Type

1. Let  


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

f(x) = ∫ , g(x) = ∫ .
dx

ex + 8e−x + 4e− 3x

dx

e3x + 8ex + 4e−x

∫(f(x) − 2g(x))dx

log
∣
∣
∣

∣
∣
∣

+ C
1
2

ex + 2e−x − 2
ex + 2e−x + 2

log
∣
∣
∣

∣
∣
∣

+ C
1

4√3

ex − 2e−x − 2√3

ex + 2e−x + 2√3

tan− 1( ) + C
1

2√3

ex − 2e−x

2√3

tan− 1( ) + C
1

2
ex + 2e−x

2

2. Let  


A. 

f(x) = ∫ , g(x) = ∫ .
dx

ex + 8e−x + 4e− 3x

dx

e3x + 8ex + 4e−x

∫(f(x) − 2g(x))dx

log
∣
∣
∣

∣
∣
∣

+ C
1

4√3

ex − 2e−x − 2√3

ex + 2e−x + 2√3

https://dl.doubtnut.com/l/_gdQvBX6GIHFo
https://dl.doubtnut.com/l/_BfjMr2tqwVio


Multiple Correct Answer Type

B. 

C. 

D. 

Answer: B

Watch Video Solution

tan− 1( ) + C
1

2
ex + 2e−x

2

tan− 1( ) + C
1

2√3

ex − 2e−x

2√3

log
∣
∣
∣

∣
∣
∣

+ C
1

4
ex + 2e−x − 2

ex + 2e−x + 2

1. If 

then

A. a) 

B. b) 

C. c) 

D. d) 

∫ log( )dx = log t − − logu + + C
e4x − 1

e2x

e2x + 1

e2x− 1

t2

2
t2

4
u2

2
u2

4

u = ex + e−x

u = ex − e−x

t = ex + e−x

t = ex − e−x

https://dl.doubtnut.com/l/_BfjMr2tqwVio
https://dl.doubtnut.com/l/_GiT4fzLKLuJa


Question Bank

Answer: B::C

Watch Video Solution

2. If , then

A. 

B. 

C. 

D. 

Answer: B::D

Watch Video Solution

∫ dx = f(x)√1 + ex − 2 logg(x) + C
xex

√1 + ex

f(x) = x − 1

g(x) =
√1 + ex − 1

√1 + ex + 1

g(x) =
√1 + ex + 1

√1 + ex − 1

f(x) = 2(x − 2)

https://dl.doubtnut.com/l/_GiT4fzLKLuJa
https://dl.doubtnut.com/l/_zQJSmXvY5PUD


1. Let  and k(-1) = 1/root (3)(2))` then the value of

k(-2) is

Watch Video Solution

k(x) =
(x2 + 1)

3√x3 + 3x + 6dx

2. If  then find the

value of [F(99)-F(3)].[Note :[k] denotes greatest integer less than or equal

to k.]

Watch Video Solution

f(x) = ∫ dx
(1 + x)(1 − x + x2)(1 + x + x2) + x2

1 + 2x + 3x2 + 4x3 + 3x4 + 2x5 + x6

3. If  and f(x) passes

through  then  equals

Watch Video Solution

f(x) = ∫2ex cos2 x( − tan2 x + tanx + 1)dx

(π, 0) (f(0) + f ′ (0))

https://dl.doubtnut.com/l/_bBJQC8BsNhz7
https://dl.doubtnut.com/l/_lGCtjKHNngcE
https://dl.doubtnut.com/l/_pmLnNTDOhcy1


4. If

where C is constant of integration and  then  is

Watch Video Solution

∫ dx = (cos ecx − cot x) ( + ) +
cos ec2x

(cos ecx + cot x)
9
2

7
2

1

α

(cos ecx − cot x)2

11

α ∈ N) α

5.  then A is equal to

Watch Video Solution

∫sin 4xetan2 xdx = c − A cos4 x. etan2 x

6. If  then (a+b+c)

equals

Watch Video Solution

∫ = ax + b√x + c∫√ dx
dx

1 + √x + 1 + √x

x + 1

x

7. ,then the last digit of the

number  is equal to (where 'c' in integration constant)

dx = + + δx + c
4 + x12

(x6 − 2x3 + 2)

xα

α

xβ

γ

(α − β + γ − δ)
99

https://dl.doubtnut.com/l/_Ju3sMEZRFTZI
https://dl.doubtnut.com/l/_Mv5GHLz5tk6u
https://dl.doubtnut.com/l/_lV0nAwrsCdUg
https://dl.doubtnut.com/l/_OtTmYMagLYlO


Watch Video Solution

8. If  and f(1) = 0, then the value of 

 is equal to

Watch Video Solution

f(x) = dx
3(Inx)2 + (Inx)4

x(1 + (Inx)2 − (Inx)3)
2

∣∣3f(e2)∣∣

9. If

then A-B+C is equal to

Watch Video Solution

∫((logex e)(loge2x e)loge3x e)) dx = A log|1 + logx| + B log|2 + logx| +
1

x

10. Let , then n+2m is equal to

Watch Video Solution

∫cos3 xdx = m sinx + + c
sin3 x

n

https://dl.doubtnut.com/l/_OtTmYMagLYlO
https://dl.doubtnut.com/l/_ZwUE4uPRED8c
https://dl.doubtnut.com/l/_1eQLpLiOhcWA
https://dl.doubtnut.com/l/_tFkxcg6Ffzni
https://dl.doubtnut.com/l/_cUdRGddW2B63


11. If  is equal to 

 (where C is constant of integration) then  is

Watch Video Solution

∫(x6 + 7x5 + 6x4 + 5x3 + 4x2 + 3x + 1)exdx

α

∑
k= 1

βxk. ex + C (α + β)

12. If int (e^x-1)/(e^x+1)dx=f(x)+C, then f(x) is equal to

Watch Video Solution

13. Let , then  is equal

to

Watch Video Solution

∫ = In
∣
∣
∣

∣
∣
∣

+ C
4 + 3x

x3 − 2x − 4

x − k

√x2 + kx + 1
k2 + l2

14. If , then the value of

(a+b) is

Watch Video Solution

∫ dx = + + 2x + C
x8 − 12x4 + 4

x4 − 4x2 + 2

xa

a

4xb

b

https://dl.doubtnut.com/l/_cUdRGddW2B63
https://dl.doubtnut.com/l/_Ao6oXJf2bo6b
https://dl.doubtnut.com/l/_7QJ63rlF9BiZ
https://dl.doubtnut.com/l/_JmaAiGeXA60Z


15. Suppose  and . If

, then the value of

 is

Watch Video Solution

A = ∫
dx

x2 + 6x + 25
B = ∫

dx

x2 − 6x − 27

12(A + B) = λ tan− 1( ) + μ. In
∣
∣
∣

∣
∣
∣

+ C
x + 3

4

x − 9

x + 3

(λ + μ)

16. Let  where p,q,r in N and need not

be distinct, then the value of  equals

Watch Video Solution

∫ = In( ) + C
dx

x2008 + x

1

p

xq

1 + xr

( )
p + q

r

17. If  where f(x) is of the

form of  then (a+b+c) equals

Watch Video Solution

∫ = C −
(2x + 3)dx

x(x + 1)(x + 2)(x + 3) + 1

1

f(x)

ax2 + bx + c

https://dl.doubtnut.com/l/_JmaAiGeXA60Z
https://dl.doubtnut.com/l/_OpqCGB9lM6ML
https://dl.doubtnut.com/l/_LoUEu4AzFqoN
https://dl.doubtnut.com/l/_6mZfH8IpOLjk


18. Let f(x) be the primitive of w.r.t. x. If F(10) = 60 then the value

of F(13), is

Watch Video Solution

3x + 2

√x − 9

19. If where g(1) = 0, then  is equal to

Watch Video Solution

∫ dx = g(x) + C
In√x

x
g(e6)

20.  where C is

constant of integration, then  is equal to

Watch Video Solution

∫ dx = λx − tan− 1( ) + C
sin2 x

sec2 x − cos2 x

1

μ

tanx

√2

λ2 + μ2

21. If  where C is integration

constant), then  is equal to

W t h Vid S l ti

∫ex( )
2

dx = ex( ) + C
x + 2

x + 4

x − α

x + β

|β − α|

https://dl.doubtnut.com/l/_VIioKYEZ4mFr
https://dl.doubtnut.com/l/_JvIS38GBDwdP
https://dl.doubtnut.com/l/_uowdgKNG4iNS
https://dl.doubtnut.com/l/_4v86HItKam0D


Watch Video Solution

https://dl.doubtnut.com/l/_4v86HItKam0D

